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Question Number : 1 Question Id : 54062621143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

L2,F4,78,Tle6,?
Options :
1. % M32
2. % M64
3. % N64
4. ¥ N32



Question Number : 1 Question Id : 54062621143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3fIepd fear T 8, fod @ o ue g ¢ | iU U fawed! & 3§ 98 Wgt fadwed gi-g, St 3igehd &l [T |

L2,F4,78,Tle6,?
Options :
1. % M32
2. % M64
3. % N64
4. ¥ N32

Question Number : 2 Question Id : 54062621144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the given words in the sequence in which they occur in the dictionary.

1. Yeastiness
2. Yearningly
3. Yesteryear
4. Yourselves
5. Yellowfins

Options :

1. ¥ 21534
2. % 12534
3. % 21354
4. % 12354

Question Number : 2 Question Id : 54062621144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafeTRad el 1 AeGhIN H S dTdl hH & IR ferd |

1. Yeastiness




2. Yearningly
3. Yesteryear
4. Yourselves
5. Yellowfins

Options :

1. ¥ 21534
2. % 12534
3. % 21354
4, % 12354

Question Number : 3 Question Id : 54062621145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd word from the given alternatives.
Options :

1. # Sharpener

2. % Pencil

3. % Paper

4. % School

Question Number : 3 Question Id : 54062621145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy ¥ fau e fawedl & 9 faww wrsg &1 gl
Options :

1. % QoR

2. % URYA

3. % DI

4. ¢ faermerg

Question Number : 4 Question Id : 54062621146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letters from the given alternatives.

AF:DI::JR:?
Options :
1. # MV
2. % NV
3. % NU
4. ¥ MU

Question Number : 4 Question Id : 54062621146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fRafeRad vy @ fau e famedl O @ Tefid sierl & gl

AF:DI:JR:?
Options :
1. ¥ MV
2. % NV
3. % NU
4. ¥ MU

Question Number : 5 Question Id : 54062621147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related word pair from the given alternatives.

Knife : Cut :: ?

Options :

1. # Amplify : Loudspeaker
2. # Pen : Book

3. % View : Binocular

4. ¥ Spade : Dig



Question Number : 5 Question Id : 54062621147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad oy & fau T7e faw el | O Hefdd 2rsq g &l gHu|

i : pIcAT:: ?
Options :

1. % ggMI : ASSHIHR
2. % ®Hod : fbde

3. % a_‘@:ﬂw

4. HaTal : WigHt

Question Number : 6 Question Id : 54062621148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘MEDICINE’ is written as ‘OHHNHMQG’. What is the code for ‘GAMBLERS’ in that code language?
Options :

1. ¥ IDQGQIUU

2. % IDQGRIUU

3. % IDQGQIUV

4. % IDQGQIVU

Question Number : 6 Question Id : 54062621148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fAfRIY PIs IS H, “MEDICINE’ &1 ‘OHHNHMQG® foraT SITdT 8 | 39 1S HTST & ‘GAMBLERS’ &1 H1S FI7 82
Options :

1. ¥ IDQGQIUU

2. % IDQGRIUU

3. % IDQGQIUV

4. % IDQGQIVU



Question Number : 7 Question Id : 54062621149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B is the brother of C. F is the mother of C. D is the sister of B. C is the father of G. How is B related to G?
Options :

1. ¥ Uncle

2. % Q@Grandfather

3. % Brother

4. % Son

Question Number : 7 Question Id : 54062621149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B,CHIYUKGIF,CHIAMIEI D, BB S8 51 C, G HITUAT 51 B, G W ford TR Haiferd 52
Options :

1. =l

2. % qlal

3. % Yy

4. % UF

Question Number : 8 Question Id : 54062621150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six women P, Q, R, S, T and U wear one cloth among six different clothes C1, C2, C3, C4, C5 and C6 (not necessarily in the same order). S and
U do not wear C2. P wears either C3 or C5. Q and T wear C1 and C6 respectively. U does not wear C4 or C5. S does not wear C3. Which of the
following statement is correct?

I. P wears C5.
II. R wears C2.

Options :
1. * Only I
2. % Only II



3.4 BothIand II
4. % Neither [ nor 11

Question Number : 8 Question Id : 54062621150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
JE AT P, Q, R, S, T dUT U B8 AN HUS C1, €2, €3, C4, C5 YT C6 H Y Uh HUST Ugdl & | (SRS Tl B A HHAA G S AT U,

C2 TR UGt g1 P ATl C3 TT C5 Ugdl &1 Q TYUT T ShHTT: C1 9UT C6 Ugdl 81 U, C4 TT C5 T8l gt g1 S, €3 71g ugal g | fFgferiad
A Y HH I HYT Tl 77

1. P, C5 Ugdl g
II. R, C2 UgTdl B

Options :

1. % PHadl

2. % Had Il

3. 1AUT ISl
4. % 1B

Question Number : 9 Question Id : 54062621151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Eight persons A, B, C, D, E, F, G and H sit around a circular table facing towards the centre (not necessarily in the same order). Two persons sit
between B and D. Two persons sit between A and D. Three persons sit between F and E. C sits to the immediate right of E. A sits to the
immediate right of H. Which of the following statement is correct?

I. G sits to the immediate left of F.
II. H sits to the immediate left of B.
II1. One person sits between A and C.

Options :

1. ®¥ Tand II

2. % Il and III
3.9 Tand III

4. % T 1 and III



Question Number : 9 Question Id : 54062621151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS A A, B, C, D, E, F, G 34T H T JATHR Sl &b 36-118 h% B 3R - HIP 964 & (SRe] Tl bl sH HH A BN BIYTD & s |
A AR IBA G| A TUTD & & H 3l AfGT 93 3| FAUTE & &g H i AAfdd 93 &1 ¢, E & R et SR 93a1 81 A, H & T ol
3R Jaar 8| Fuffed 7 o1 1 HuT 98l 82

I. G, F % qRd a1 3R 93T & |

II. H, B % q¥d S 3R dod gl

[Il. A 94T C & &9 § U Afdd dodl g
Options :

1. ® 1aUTII

2. % YT

3. ¢ 1T

4. % I QUTII

Question Number : 10 Question Id : 54062621152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. NoPisR.
II. Some P are T.

Conclusions:
I. Some T are not R.
II. Some T are P.

Options :

1. # Only conclusion I follows

2. % Only conclusion II follows

3. ¥ Both conclusion I and II follows



4. % Neither conclusion follows

Question Number : 10 Question Id : 54062621152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 foU T Uy ¥ 58 U 3R 3D 918 31 Bl R MUTRT & (5h U T | 3T T Hy=1 oI 91 AM, d1e 379 AE= 1 a2t
3 firerar 811 gt e ug SR fRR FRaffea &% o fau T 1 T fse, 3w 71T AT & SR R gfaaia 8|

DHY-:
1. &8 i p, R TR B
L. $S P, T3

fysen:

L $S T, REI gl
LS T,PEI
Options :

1. % Had (sHY | 38R0 HRT §
2. % Had BN 11 IR0 Hal §
3. ¢ 1 s [ T 11 SR A §
4. % DIz W} FIoHY SR 8 dRT §

Question Number : 11 Question Id : 54062621153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. All D are N.

II. Some P are N.
III. All Q are D.

Conclusions:
I. Some P are D.



II. All Q are N.
III. Some Q are P.

Options :

1. % Only conclusion III follows
2. % Only conclusion II follows
3. % All conclusion follows

4. # Only conclusion I follows

Question Number : 11 Question Id : 54062621153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3T T Uy & 8 U 3R 3% 918 31 HUHI IR AUING & 56y 3T T4 § | 3T T 2 &1 981 A, 918 S8 Qg I 9
3 forzrar 81t e o ofk fRR fReifa &% i fou o o1 3 s, fou U wyi & smyR &R gfaaa g

DHY-:
.94 D, N B

I. $S P, N g I
1L g4t Q, D

e
L$S P, DRI
1L 3dt Q, N gl
.36 Q, P&l

Options :

1. ® $Had [5HY [11 TR0 HRAT &
2. ¥ I DY 11 SRV BT §
3. % it Freap e SRRUT ARl §

4. % Had (5B | ST HRT §

Question Number : 12 Question Id : 54062621154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the missing number from the given series.



77,49, 36, 18, ?
Options :

1. % 4

2.9 8

3.9

4. %5

Question Number : 12 Question Id : 54062621154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofefad vy & & 1S Yaen A 9 g 3fd J1d DI

717,49, 36, 18, ?
Options :

1. % 4

2.9 8

3.%9

4. %5

Question Number : 13 Question Id : 54062621155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the number which can be placed at the sign of question mark (?) from the given alternatives.

25 | .18 | 19
16 | 41 | 20
25 | 43

221 24 | ?

Options :
1. * 14



2.¥ 16
3. % 18
4. % 22

Question Number : 13 Question Id : 54062621155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. * 14
2.9 16
3. % 18
4, % 22

Question Number : 14 Question Id : 54062621156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the total number of poets?



Player

4125\

18
21 27 —— Singer

45

Poet
Options :
1. % 45
2. ¥ 106
3. % 36
4. % 72

Question Number : 14 Question Id : 54062621156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hiadl B Pl I T 82

Options :
1. % 45
2. ¥ 106



3. % 36
4. % 72

Question Number : 15 Question Id : 54062621157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given venn diagram, which of the following statement is correct?

I. The total number of phone is 178.
II. Number of pens which are neither house nor phone are 91.

Phone
49
58
‘:I
House — y
42
Pen
Options :
1. % Only I
2. % Only II

3. % Both I and II
4. % Neither I nor 11

Question Number : 15 Question Id : 54062621157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ T 37 3T & YR R, FufalRad & § oF /8 Hy= 981 87382

L. Bl & $d G- 178 §
IL. 98 HAH S AT 81 TR AT 81 B §, B GBAT91 g



Options :

1. % Hadl

2. % HAd Il

3. ¢ 1 UGl
4. % qEIIATE I

Question Number : 16 Question Id : 54062621158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man walks 30 km towards west. He turns to the right and walks 27 km. He turns to the left and walks 31 km. He turns to the right and walks 45
km. He turns to the left and walk 50 km. Finally he turns to the left and walks 10 km. In which direction is he facing now?

Options :
1. # North
2. % West
3. % South
4. # East

Question Number : 16 Question Id : 54062621158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T = UH B 3R 30 5.1, Iean 81 a8 ol ok gear 8 aun 27 .10, Iear 81 a8 arff 3k a1 8 qur 31 i 1. gaar g1 a8 erff

3R IS g qUT 45 fop. . It &1 I8 S 3R G351 § a1 50 fop. /. Iadr g1 Sidd:, 98 ardl 3R g1 § 9T 10 fob. Y. Iaan g1 3@ a8
forg fezn &t sk @ w82



Options :

1. % 3™
2. % Uigwm
3. ¥ &

4. % 7d

Question Number : 17 Question Id : 54062621159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A boy walks 20 metre towards the north. He turns to the right and walks 40 metre. He turns to the left and walks 30 metre. He turns to the left
and walks 100 metre. He turns to the left and walks 10 metre. Finally, he turns to the left and walks 30 metre. How far and in which direction is
he now from the starting point?

Options :

1. # 40 metre North-West
2. # 40 metre South-East
3. % 50 metre North-West
4. % 50 metre South-East

Question Number : 17 Question Id : 54062621159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP ASH] IR B 3R 20 Hex IAd1 ¢ | I8 TR 3R ST § 4T 40 Hiex Il & | T8 ST 3R ST § a7 30 Hiex Ialdl ¢ | 98 a1l 3R
TSl & U7 100 HeR Ierdl ¢ | 98 a1 3R GSaT g 7T 10 Hiex Iardl g | 3idd:, I8 St 3R ST § T 30 Hiex 9adl g | 98 SRS fog
T 3 fpait QR qur I A e A 82

Options :

1. % 40 HIR IWR-Ufgy
2. % 40 Hiex gféoryd

3. ¢ 50 Hiex IAR-Ui3H
4. % 50 Hiex gfeorgd

Question Number : 18 Question Id : 54062621160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Which figure is similar to the given figures?

1+ >
s il (%)

« =

Options :

Ky
O
@

Question Number : 18 Question Id : 54062621160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI I AP < TS SHfaal & THH 72

é
AN
« — >




Options :

Question Number : 19 Question Id : 54062621161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line AB, then which of the answer figures is the right image of the given figure?

Options :

A




Question Number : 19 Question Id : 54062621161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& Th YT BT AB AT TR T ST, Al & T8 ITR MH Tl T F B At 1epfa Uy SMepfa o1 wgt ufafad grfte

A
Options :




Question Number : 20 Question Id : 54062621162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
By folding the given paper, which of the following cube cannot be made?

O|0
A
V2

@

0 &




Options :

1. % Tand IV

2. % Il and 111

3. % L Iland IV
4. % II, T and IV

Question Number : 20 Question Id : 54062621162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ T BRI B HigA R, ufafad § @ &1 91 99 981 §9 1 o IhdT 82

O|O
A
%
@
< K2 D2 &
I [l [11 A%
Options :
1. % 1dUTIV
2. ¥ I dYUT I
3. % LIIAYTIV

4. % [ HI dYTIV



General Awareness

Group Number : 2

Group Id : 540626843
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

General Awareness

Section Id : 5406261055
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261266
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54062621163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Kuchipudi is a classical dance form of which state?
Options :

1. # Karnataka

2. ¥ Andhra Pradesh



3. ®* Tamil Nadu
4. % Kerala

Question Number : 21 Question Id : 54062621163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BRYS g ey &1 IR T 72
Options :

1. % PP

2. ¢ ST UG

3. % qiAeg

4. % P

Question Number : 22 Question Id : 54062621164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“Pankhida” is a regional music of which state?
Options :

1. # Bihar

2. % Uttar Pradesh

3. ¥ Rajasthan

4. ¥ Mabharashtra

Question Number : 22 Question Id : 54062621164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“URIST fobdr Iod 1 &fty Tt 82
Options :

1. % f98R

2. % JW UK

3. ¥ ISR



4. % TIERTY

Question Number : 23 Question Id : 54062621165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is an instrument of monetary policy used by RBI?

I. Repo Rate
II. Bank Rate
II1. Open Market Operations

Options :

1. * Tand II

2. % Iland III
3. % land III

4. 1,11 and III

Question Number : 23 Question Id : 54062621165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 5 A B A SR .31, TR SIS 1 S arefl Hifgep =il 1 ferRad &

LYW &R

II. 9% &2

111 Gl SR GRTe
Options :

1. % 13U

2. % QYT I

3. % QYT

4.4 1,11 QYT I

Question Number : 24 Question Id : 54062621166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is correct regarding indifference curve?

L. Indifference curve slopes downwards from left to right
I1. Higher indifference curve gives greater level of utility

Options :

1. % Only I

2. % Only IT

3. % BothIand II
4. % Neither I nor II

Question Number : 24 Question Id : 54062621166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad # 9 & I1 3w 9% & Jgu & I8t 82

1. SR g% 2 § 91U 1 & 3R ¢dd Bid @
11. 3= A gsh, IUTAIT & I TR I UeH Hdl g

Options :

1. % PHadl

2. % Had Il

3. 1AUT ISl
4. % FrAIATA

Question Number : 25 Question Id : 54062621167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an example of artificial ecosystem?
Options :

1. ¥ Crop fields

2. # Forests

3. % Ponds

4. # Lakes



Question Number : 25 Question Id : 54062621167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed o € &9 ara RfHd uivds o1 te Iarms g2
Options :

1. v Qd

2. % dq

3. % dlclld

4. % A

Question Number : 26 Question Id : 54062621168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The refractive index of water is

Options :

1.+ 1.33

2.% 19

3. % 2.1

4. % 242

Question Number : 26 Question Id : 54062621168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I BT HUTAID BT e |
Options :

1.+ 1.33

2.% 19

3.% 2.1

4, % 242



Question Number : 27 Question Id : 54062621169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

I. Angiosperms are also called flowering plants.
II. Pinus and Cycas are examples of Angiosperms.

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 27 Question Id : 54062621169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifad & @ & 91 YT 9g 22

1. ORERH ) gt urey off et ST 8|
11, TS dUT I3 d, TRy & 3<e v gl
Options :

1. Had |
2. % Had Il
3. % [ UGl
4. % qEIIATR I

Question Number : 28 Question Id : 54062621170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which country is the highest producer of rice in the world?
Options :

1. # India

2. % China



3. * Brazil

4. % United states of America

Question Number : 28 Question Id : 54062621170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fay o 19 BT GNP IdTGA B aTe o DI 91 52
Options :

1. % HRd

2. ¢ TH

3. ® §oild

4. % Y Y SARDT

Question Number : 29 Question Id : 54062621171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is the first state in India which has made roof top rainwater harvesting structure compulsory to all the houses across the state?
Options :

1. % Rajasthan

2. % Tamil Nadu

3. % Kerala

4. % Gujarat

Question Number : 29 Question Id : 54062621171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRd &1 UG Iod B T & Fo 8 IR A T auioldd GUGUI Grall bl ST SIS BT Y12
Options :

1. % STRYTH

2. ¢ AeArg

3. % R




4. % TORId

Question Number : 30 Question Id : 54062621172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

I. Internal migration changes the size of the population.
II. Agriculture comes under primary activity.

Options :

1. % Only I

2.% Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 30 Question Id : 54062621172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefed & ¥ o9 91 By I8 82

1. TR T ST & 3PR T URad drar g |
1. ST Uit fhardmar & Sfavid ST 8|

Options :

1. % Had 1

2. ¥ Had Il

3. % [ UGl
4. % GBI

Question Number : 31 Question Id : 54062621173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which year Babur defeated Ibrahim Lodi at Panipat?
Options :



1. ¥ 1526
2. % 1529
3. % 1530
4, % 1527

Question Number : 31 Question Id : 54062621173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e STeR A TG <! T UHIud H g U1
Options :

1. ¥ 1526

2. % 1529

3. % 1530

4. % 1527

Question Number : 32 Question Id : 54062621174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
was the founder of Rashtrakutas dynasty.
Options :
1. ¥ Dantidurga
2. % Krishna II
3. % Amoghavarsha
4. # Vijayalaya

Question Number : 32 Question Id : 54062621174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ATPHC 9 & HRITUH g
Options :

1. ¢ St



2. % U
3. % Mgy
4. % faSETerg

Question Number : 33 Question Id : 54062621175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

I. All India Muslim League was formed in 1908.
II. Mahatma Gandhi returned India from south Africa in 1913.

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 33 Question Id : 54062621175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefed & ¥ o9 91 Hy= 981 82

1. 3{Tel STear gy ofiv &1 713+ 1908 T g1 T
11. 1913 T TETET TTieht SF&0T Srpbient ¥ YRA aic |

Options :

1. % Had |

2. % Had I

3. % [ QYT
4. TIRIIATRII

Question Number : 34 Question Id : 54062621176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Who is the author of book “A Song of India”?
Options :

1. # Jay Shetty

2. ¥ Ruskin Bond

3. % Neena Rai

4. % Ashutosh Bhardwaj

Question Number : 34 Question Id : 54062621176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“T AT 3T ST [ & RGD B g2
Options :

Question Number : 35 Question Id : 54062621177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Headquarter of United Nations Environment Programme is situated in
Options :

1. % Vienna

2. % Gland

3. ¥ Nairobi

4. % New York

Question Number : 35 Question Id : 54062621177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Jged Ay iR FHEA ST A RE3R|




Options ':V
1. % fagmr
2. % TS
3. ¢ RIst
4. % Qi

Question Number : 36 Question Id : 54062621178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following space agency will launch world’s first satellite made of wood by the end of 2021?
Options :

1. ¥ NASA

2. % ESA

3. % CNSA

4. % CNES

Question Number : 36 Question Id : 54062621178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad o 9 &9 T sidfvel ToidT 2021 & 3fd % Ade! Y ST g-aT Ugdl SUUE Ard BT
Options :

1. # {9191

2. 3T

3. % QAT

4. % eI

Question Number : 37 Question Id : 54062621179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The constitution of Indian came into force on
Options :



1. ¥ 26 January, 1950
2. % 26 January, 1949
3. # 9 December, 1946
4. # 26 November, 1951

Question Number : 37 Question Id : 54062621179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRAHTARQYE Sl AL gel
Options :

1. ¢ 26 SHaRY, 1950

2. % 26 SaR1, 1949

3. % 9 fdHeR, 1946

4, % 269deR, 1951

Question Number : 38 Question Id : 54062621180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of article of Indian constitution is correct?

I. Bar to interference by court in electoral matters — Article 329
II. Supreme court of India — Article 318

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. # Neither I nor II

Question Number : 38 Question Id : 54062621180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Tfaem &1 Fufafed § § srwe &1 &F 91 3 T8t 82




1. fafem dedt amal o <mreal & g¥aay &7 9o — TG 329
1. YRd &1 Yaied ey — 356 318
Options :

1. ¥ FHad |
2. % Had Il
3. % [ UGl
4. % qGIIATRIII

Question Number : 39 Question Id : 54062621181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘Davis cup’ is associated with which sports?
Options :

1. % Golf

2. % Football

3. ¢ Tennis

4. # Cricket

Question Number : 39 Question Id : 54062621181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S HU [y Id ¥ Faifd g2
Options :

1. % Tcth

2. % Podid

3. ¢

4. % fopbe

Question Number : 40 Question Id : 54062621182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Who is the captain of Indian Men’s Hockey Team which won the bronze medal in 2020 Tokyo Olympics (played in 2021)?
Options :

1. # Jaskaran Singh

2. % Manpreet Singh

3. % Rajkumar Pal

4. % Birendra Lokra

Question Number : 40 Question Id : 54062621182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR GFY §leb! S & B BHH ¢ fora- cad] Safid 2020 (2021 & Wl TN & I UG Siidl 82

Options :

1. % gl g
2. ¢ HYId Rig
3. % NP HR Ul
4. % GRg AB

Arithmetic Ability
Group Number : 3
Group Id : 540626844
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

Arithmetic Ability



Section Id : 5406261056

Section Number : 1

Section type : Online
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Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261267
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 54062621183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the value of ?
Options :

% K7

) v BT

3 8 K7

4. = B

Question Number : 41 Question Id : 54062621183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Options :
| w K77

Question Number : 42 Question Id : 54062621184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the smallest number by which 448 is multiplied to make it a perfect square?
Options :

1. % 4

2.% 8

3.¢7

4. % 2

Question Number : 42 Question Id : 54062621184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IE a9 BIC] T 1 8 FIIY 448 &Y 0T b Ueh ot a¥f ST ST g2
Options :

1. % 4



2. %8
3.7
4. %2

Question Number : 43 Question Id : 54062621185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A boy added all natural numbers from 1 to 12, however he added one number twice due to which the sum became 83. What is that number which
he added twice?

Options :
1. % 4
2.¥5
3.% 6
4. % 7

Question Number : 43 Question Id : 54062621185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH A8b 1 1 ¥ 12 TP &t Ul Ipfas Seamstt &l ST dfed 39 U A1 $I &l IR oiis (a1 foIidh BRI T 83 B 71T | 98 T &l
2 o) ST T TR SiieT 22

Options :

1. # 4

2.%°5

3. % 6

4. % 7

Question Number : 44 Question Id : 54062621186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



7+-\/_+

What is the value of ?
Options :

1. %2

2. % 4

3.9 3

4. % 6

Question Number : 44 Question Id : 54062621186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Options :
1. % 2
2. % 4
3.3
4. % 6

Question Number : 45 Question Id : 54062621187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many numbers are there from 0 to 502 which are completely divisible by 5 or 7?
Options :

1. % 162

2. % 155

3. % 160



4.9 157

Question Number : 45 Question Id : 54062621187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

0 ¥ 502 T T forait TReATd § St 5 a1 7 ¥ gufa: faursa g2
Options :

1. % 162

2. % 155

3. % 160

4. 157

Question Number : 46 Question Id : 54062621188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

After giving a discount of 35 percent a cycle is sold for Rs. 5265. What is the marked price of the cycle?
Options :

1. * Rs. 9000

2. ® Rs. 8500

3. ¥ Rs. 9200

4. ¥ Rs. 8100

Question Number : 46 Question Id : 54062621188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

35 TR B B & & YT U WIShd D 5265 SUY BT odT T 5 | ASfhdt o1 Siford e 1 82
Options :

1. % 9000 ¥0Y

2. % 8500 TYY

3. % 9200 39U

4. ¥ 8100 3T



Question Number : 47 Question Id : 54062621189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The length of a rectangular plot is increased by 20 percent. By how much percentage its breadth should be decreased so that total area remains
same?

Options :

1. # 20 percent

2. ¥ 16.66 percent
3. % 25 percent

4. % 15 percent

Question Number : 47 Question Id : 54062621189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS ATHR Wic ! AFTS bl 20 UAUd A TS T8 | B! TS B! fobd Ufa<id A HH BT AR difes IHBT &Fhd JHH g2
Options :

1. % 20 gfrd

2. ¥ 16.66 Ufa=Id

3. % 25 gfa=rd

4. % 15 gfawrd

Question Number : 48 Question Id : 54062621190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an examination, Raman got 20 percent marks and he failed by 120 marks. If he gets 25 percent marks, then he fails by 100 marks. What are the
maximum marks of the examination?

Options :
1. % 200
2. % 300
3. % 400
4. % 600



Question Number : 48 Question Id : 54062621190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS TRe , T 7 20 UfA=Id 3ics UTd fohT Ut 98 120 3feh 9 <ol 81 man| af a8 25 ufa=id ofe Ui SRd1 ], 1 98 100 3!
SITTT BT Il & | TRI&T & SHfRidad 3idh o1 62

Options :

1. % 200

2. % 300

3. ¥ 400

4. % 600

Question Number : 49 Question Id : 54062621191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rohit had a loss of 20 percent by selling his pen for Rs. 3648. If he sells it for Rs. 4800, then what would be the profit percent?
Options :

1. ¥ 5.26 percent

2. # 6.66 percent

3. % 4.44 percent

4. % 333 percent

Question Number : 49 Question Id : 54062621191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Afed B U U 3648 TUY BT 9 WR 20 U= 1 81 85 | TfS I8 T/ 4800 FUT HT ST &, Tl ATH U1 -1 B2
Options :

1. ¢ 5.26 Ufd=rd

2. % 6.66 UfdRId

3. % 444 UfaRrd

4. % 333 gf=rd



Question Number : 50 Question Id : 54062621192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The length, breadth and height of a cuboid are in the ratio of 13 : 12 : 10 respectively. If length is 9 cm more than height, then what is the volume
of this cuboid?

Options :

1. ¥ 42120 cm?
2. % 39120 cm?
3. % 41420 cm®
4. % 44420 cm?

Question Number : 50 Question Id : 54062621192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP TATH B! TS, STS dUT SHATg BT SUTd HHE: 13 ¢ 12 : 10 71 AfS TS, Sams J 9 .4, 31 §, O °9-TH BT 3T o1 &2
Options :

1. ¢ 42120 9.HI3
2. % 39120 9.HT3
3. % 41420 A3
4. % 44420 QA3

Question Number : 51 Question Id : 54062621193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P, Q and R received an amount of Rs. 8400 and they distributed among themselves in the ratio of 8 : 7 : 6 respectively. If P, Q and R save in the
ratio of 4 : 3 : 5 respectively and Q saves Rs. 900, then what is the ratio of the expenditures of P, Q and R respectively?

Options :

1.¥20:19:9
2.%20:19:12
3.%20:17: 11
4, % 20:19:7



Question Number : 51 Question Id : 54062621193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P,QTUTR HI 8400 TTY U GU S dUTA U YT HHHR: 8: 7 : 6P JUId H Sic A &1 A P, Q AUTR &1 Faid BT SJUTd HHRT: 4 : 3 :
58 YT Q, 900 ST AT &, Al HHKT: P, Q TYUT R &b Y BT IUTd &1 &7

Options :

1.420:19:9

2.%20:19: 12

3.%20:17: 11

4. % 20:19:7

Question Number : 52 Question Id : 54062621194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The simple interest received on a certain sum is Rs. 1782 for 3 years. What will be the simple interest on the same sum at the same rate of interest
for 10 years?

Options :

1. % Rs. 6800
2. % Rs. 5940
3. # Rs. 6840
4. % Rs. 6940

Question Number : 52 Question Id : 54062621194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gﬂﬁ@aw&msaﬁf%mnszmwwwwm T gidT & | T AR UR FHTH <A b1 e A 10 TN b (o7 JTYROT STl fobaT
9

Options :

1. % 6800 30U

2. ¥ 5940 JTY

3. % 6840 3UY




4. % 6940 ST

Question Number : 53 Question Id : 54062621195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A bus covers a distance of 60 km in 36 minutes. If its speed is decreased by 25 km/hr, then what will be the time taken by the bus to cover the
same distance?

Options :

1. ¥ 48 minutes
2. # 54 minutes
3. % 42 minutes

4. % 60 minutes

Question Number : 53 Question Id : 54062621195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP §9 60 fob. 1. 1 U g1 &1 36 e B el g1 afe S9! 1 &1 25 o T /eieT I 7 H= g o, af T0H gl ol T - & a9
a1 fob o Ty forar saeme
Options :

1. ¢ 48 fiFe
2. % 54fiFe
3. % 42 fiFe
4. % 60 fHC

Question Number : 54 Question Id : 54062621196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A boat covers a distance of 35 km upstream and 35 km downstream in 12 hours. The same boat covers a distance of 14 km downstream and 15
km upstream in 300 minutes. What is the speed of boat in still water?

Options :
1. ¥ 6 km/hr
2. % 4 km/hr



3. # 5 km/hr
4. * 3 km/hr

Question Number : 54 Question Id : 54062621196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP 19 35 b 1. URT & Ufagpa auT 35 T i aRT & ®1 TP G I 12 8¢ T a0 Rl ¢ | Tt 1d 14 . 1Y, 4RT & S/ auT 15
for . &RT & Ufddma &1 T g2 BT 300 e § 00 Hxcll o | FRR e & A1d &1 71 a1 82

Options :

1. ¢ ¢ fob HY et
2. % 4 fp 1 /eier
3. % 5 fop . /eier
4. % 3 fop ot eer

Question Number : 55 Question Id : 54062621197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

M alone can complete a work in 48 days and N alone can complete the same work in half time of the time taken by M. Working together what
part of the same work they can complete in a day?

Options :
1. ® 1/15
2.¥ 1/16
3. % 1/17
4. % 1/20

Question Number : 55 Question Id : 54062621197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

M 3{hd U BT Pl 48 fo T TRT R Yhel § TUTN 3l I B DI M gRT T T THT & 318 JH H T HR Tl & | 1Y faas
HT Hd §U A TH fod & I BRI BT {1 UFT R IR Thd 62

Options :

1. % 1/15




2.¥1/16
3. % 1/17
4. % 1/20

Question Number : 56 Question Id : 54062621198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Total surface area of a cube is 7350 cm?. What is the side of this cube?
Options :

1. % 12.5cm

2. % 15cm

3. % 25cm

4. ¥ 35cm

Question Number : 56 Question Id : 54062621198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS U9 1 $d G814 8% d 7350 .H.2 §1 O &1 Yol 1 82
Options :

1. % 12530,

2. % 1599

3. % 259

4.4 3530

Question Number : 57 Question Id : 54062621199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Volume of a cube whose side is 20 cm is equal to the volume of a cuboid whose height is 20 cm. If sum of length and breadth of cuboid is 50 cm,
then what can be the length of the cuboid?

Options :
1. ® 25cm
2. % 30 cm



3. % 35¢cm
4. % 40 cm

Question Number : 57 Question Id : 54062621199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH G forgep! YT 20 T4, 8 BT AT U I11H & THM & St Sars 20 T.H1. 81 af a4 &1 daTs quT disls &1 aiT 50 .. g, af
YATH BT TaTS T 81 Jobail 37

Options :

1. % 259,

2. % 309.H.

3. % 359

4. % 40 Q.1

Question Number : 58 Question Id : 54062621200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The line graph given below shows the number of students of two schools playing seven different games.
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J1 = The average number of students playing all the games for school A

J2 = The difference between total number of students playing all the games of school A and total number of students playing all the games of
school B

What is the value of J1 : J2?
Options :

1. % 7:2
2.%6:1
3.%7:3
4.9 8:3

Question Number : 58 Question Id : 54062621200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.%7:2
2.%6:1
3.%7:3
4.¥8:3

Question Number : 59 Question Id : 54062621201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar graph given below shows the selling price and marked price of 5 different article.

700
600 600
500 500
400
300
200 200
lﬁl
P Q R S T
O Selling Price @ Marked Price

Discount = Marked price — Selling price
What is the value of average discount on articles P, Q, R and S?

Options :
1.¥ 1375
2. % 162.5
3. % 1435
4. % 1525

Question Number : 59 Question Id : 54062621201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

+ra e mar gus o 5 fafta axgent & fassa Yoo qun siferd 4o &1 gRiiar g1
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Options :

1. 1375

2. % 1625

3. % 1435

4. % 1525

Question Number : 60 Question Id : 54062621202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table given below shows the cost price and profit percentage of five articles.



Article | Cost Price Profit %
A 200 10
B 300 20
C 120 25
D 450 30
E 640 12.5

( Cost price x Profit% |

Selling price = Cost price + ; 100 |

J1 = The average selling price of all articles
J2 = The difference between total selling price and total cost price
What is the value of (J1 —J2)?

Options :
1. % 94
2.¥ 82
3. % 64
4. % 102

Question Number : 60 Question Id : 54062621202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

<t 12 anferent uta axgsit & B9 Yoo auT A1y Uia=id &I g g |

aFd | B A oI %
A 200 10
B 300 20
€ 120 25
D 450 30
E 640 125
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(J1-J2) ST HH T 82

Options :

1. % 94

2.9 82

3. % 64

4. % 102
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Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261268
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 54062621203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Her name is Jenifer (1)/ but her father calls her(2)/ Jenny of short (3)/.No error (4)
Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 61 Question Id : 54062621203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Her name is Jenifer (1)/ but her father calls her(2)/ Jenny of short (3)/.No error (4)
Options :

1. #* 1

2. % 2

3.9 3

4. % 4

Question Number : 62 Question Id : 54062621204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Levels of press freedom, autonomy (1)/and media sustainability have fluctuated (2)/for Georgia became independent in 1991 (3)/.No error (4)
Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 62 Question Id : 54062621204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Levels of press freedom, autonomy (1)/and media sustainability have fluctuated (2)/for Georgia became independent in 1991 (3)/.No error (4)
Options :

1. %1

2. %2

3.3

4, % 4

Question Number : 63 Question Id : 54062621205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

She sent word for the dismissal of back-up.
Options :

1. # sent a word

2. # has sent word

3. % had sent a word

4. ¥ No improvement



Question Number : 63 Question Id : 54062621205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

She sent word for the dismissal of back-up.
Options :

1. # sent a word

2. # has sent word

3. % had sent a word

4. ¥ No improvement

Question Number : 64 Question Id : 54062621206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

He see nothing but a distant beach and the ocean.
Options :

1. # seen nothing yet

2. ¥ saw nothing but

3. ® seeing none but

4. ¥ No improvement

Question Number : 64 Question Id : 54062621206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

He see nothing but a distant beach and the ocean.



Options :

1. # seen nothing yet
2. ¥ saw nothing but
3. % seeing none but

4. ¥ No improvement

Question Number : 65 Question Id : 54062621207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

No one had ever heard Prakash an unpleasant word.
Options :

1. #* blunder

2. ¥ utter

3. % plunder

4. # display

Question Number : 65 Question Id : 54062621207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

No one had ever heard Prakash an unpleasant word.
Options :

1. #* blunder

2. % utter

3. # plunder

4. % display

Question Number : 66 Question Id : 54062621208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

IfI a bird, I would have never stopped flying.
Options :

1. # could

2. # was

3. v were

4. % would

Question Number : 66 Question Id : 54062621208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

If1 a bird, I would have never stopped flying.
Options :

1. # could

2. # was

3. ¥ were

4. % would

Question Number : 67 Question Id : 54062621209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

In addition to

P: that show a wide variety of movies,

Q: many multi-screen commercial

R: cinemas, there are scores of little “art” houses
S: many of them with subtitles

Options :

1. # SRQP

2. % SPQR



3. # PSRQ
4. ¥ QRPS

Question Number : 67 Question Id : 54062621209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

In addition to

P: that show a wide variety of movies,

Q: many multi-screen commercial

R: cinemas, there are scores of little “art” houses
S: many of them with subtitles

Options :

1. ¥ SRQP
2. % SPQR
3. % PSRQ
4. ¥ QRPS

Question Number : 68 Question Id : 54062621210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: to the sea grass beds that some species rely upon for food

Q: from the damage done by sedimentation and pollution

R: has been washed into the ocean and may resemble food to them, and
S: the turtles are at further risk from man-made debris that

Options :

1. ¥ PRSQ
2. % SRQP
3. % QRPS
4. % PQSR



Question Number : 68 Question Id : 54062621210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: to the sea grass beds that some species rely upon for food

Q: from the damage done by sedimentation and pollution

R: has been washed into the ocean and may resemble food to them, and
S: the turtles are at further risk from man-made debris that

Options :

1. ¥ PRSQ
2. ¥ SRQP
3. % QRPS
4. % PQSR

Question Number : 69 Question Id : 54062621211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Alteration
Options :

1. # Valour

2. ¥ Amendment
3. % Altercation

4. % Preserve

Question Number : 69 Question Id : 54062621211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Alteration
Options :



1. # Valour
2. % Amendment
3. # Altercation

4. % Preserve

Question Number : 70 Question Id : 54062621212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Arrant
Options :

1. # Arrogant
2. % Humble
3. % Dubious
4. % Profound

Question Number : 70 Question Id : 54062621212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Arrant
Options :

1. ¥ Arrogant
2. % Humble
3. % Dubious
4. ® Profound

Question Number : 71 Question Id : 54062621213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.



Options :

1. ¥ Embarrass
2. # Embaras

3. % Embarras

4. % Embarass

Question Number : 71 Question Id : 54062621213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Embarrass

2. ¥ Embaras

3. # Embarras

4. % Embarass

Question Number : 72 Question Id : 54062621214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Humarous

2. # Humarruos

3. % Humorous

4, % Humaras

Question Number : 72 Question Id : 54062621214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. * Humarous



2. * Humarruos
3. % Humorous

4. % Humaras

Question Number : 73 Question Id : 54062621215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To blow one’s brain out

Options :

1. # To trip and fall

2. % To kill by shooting in the head
3. # To ponder about something

4. % To drink uncontrollably

Question Number : 73 Question Id : 54062621215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To blow one’s brain out

Options :

1. *¥ To trip and fall

2. % To kill by shooting in the head
3. # To ponder about something

4. % To drink uncontrollably

Question Number : 74 Question Id : 54062621216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.



To slip a cog
Options :

1. # To miss a train
2. % To be disturbed
3. # To get drunk

4. % To waste food

Question Number : 74 Question Id : 54062621216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To slip a cog
Options :

1. # To miss a train
2. ¥ To be disturbed
3. % To get drunk

4. % To waste food

Question Number : 75 Question Id : 54062621217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

To support with evidence
Options :

1. ¥ Corroborate

2. # Collect

3. % Curate

4. # Joinery

Question Number : 75 Question Id : 54062621217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

To support with evidence
Options :

1. ¥ Corroborate

2. % Collect

3. #* Curate

4. % Joinery

Sub-Section Number : 2
Sub-Section Id : 5406261269
Question Shuffling Allowed : Yes

Question Id : 54062621218 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)
Read the following information carefully and answer the given questions.

Coral bleaching happens when corals lose their vibrant colours and turn white. But there’s a lot more to it than that. Coral is bright and colourful
because of microscopic algae called zooxanthellae. The zooxanthellae live within the coral in a mutually beneficial relationship, each helping the
other survive. But when the ocean environment changes—if it gets too hot, for instance—the coral stresses out and expels the algae. As the algae
leaves, the coral fades until it looks like it’s been bleached. If the temperature stays high, the coral won’t let the algae back, and the coral will die.
The leading cause of coral bleaching is climate change. A warming planet means a warming ocean, and a change in water temperature—as little
as 2 degrees Fahrenheit—can cause coral to drive out algae. Coral may bleach for other reasons, like extremely low tides, pollution, or too much
sunlight.

Coral bleaching matters because once these corals die, reefs rarely come back. With few corals surviving, they struggle to reproduce, and entire
reef ecosystems, on which people and wildlife depend, deteriorate. Bleaching also matters because it’s not an isolated phenomenon. According to
the National Oceanic and Atmospheric Association, between 2014 and 2017 around 75 percent of the world’s tropical coral reefs experienced
heat-stress severe enough to trigger bleaching. For 30 percent of the world’s reefs, that heat-stress was enough to kill coral. Though coral
bleaching matters in some aspects yet it also impacts wildlife and human population in some ways.

Coral reefs support some of the most biodiverse ecosystems on the planet. Thousands of marine animals depend on coral reefs for survival,
including some species of sea turtles, fish, crabs, shrimp, jellyfish, sea birds, starfish, and more. Coral reefs provide shelter, spawning grounds,
and protection from predators. They also support organisms at the base of ocean food chains. As reef ecosystems collapse, already at-risk species
may face extinction. Bleached coral also compounds the overfishing crisis by removing links in the food web and depriving some fish and
crustacean species of a place to spawn and develop. Anyone relying on these animals as a primary source of income or protein will be in trouble.
Finally, reef tourism brings in billions of dollars each year and supports thousands of jobs. Bleached coral reefs, devoid of magnificent marine
species, jeopardize it all.



Sub questions

Question Number : 76 Question Id : 54062621219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following questions is not answered by the given passage?
Options :

1. ¥ What triggers coral bleaching?

2. % Why does coral bleaching matter?

3. # How does coral bleaching impact wildlife?

4. ¥ How human population can help in protecting coral reefs?

Question Number : 77 Question Id : 54062621220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, which of the following is NOT the leading cause of coral bleaching?
Options :

1. ¥ Complex food chain

2. % Too much sunlight

3. % Pollution

4. ® Extremely low tides

Question Number : 78 Question Id : 54062621221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How does coral bleaching impact humans?

Options :

1. % Tourism will get affected as nobody wants to see dying coral reefs.
2. #® Changes in food web affect the appetite of humans.

3. # There will be no leisure in eating sea food.

4. ® Tt can cause many harmful diseases to them.

Question Number : 79 Question Id : 54062621222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the correct synonym of the word ‘precaution’ from the given passage?
Options :

1. # Collapse

2. ¥ Preventive

3. # Expel

4. ¥ Magnificent

Question Number : 80 Question Id : 54062621223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What has been stated in the National Oceanic and Atmospheric Association report?

Options :

1. # 75 percent of the world’s tropical coral reefs experienced heat-stress gentle enough to combat bleaching between 2014 and 2017.
2. % 75 percent of the world’s tropical coral reefs experienced heat-stress severe enough to trigger bleaching between 2014 and 2017.
3. % More than 75 percent of the world’s tropical coral reefs experienced heat-stress severe enough to combat bleaching in 2014.

4. ® Less than 75 percent of the world’s tropical coral reefs experienced heat-stress severe enough to trigger bleaching in 2017.

Question Id : 54062621218 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)
Read the following information carefully and answer the given questions.

Coral bleaching happens when corals lose their vibrant colours and turn white. But there’s a lot more to it than that. Coral is bright and colourful
because of microscopic algae called zooxanthellae. The zooxanthellae live within the coral in a mutually beneficial relationship, each helping the
other survive. But when the ocean environment changes—if it gets too hot, for instance—the coral stresses out and expels the algae. As the algae
leaves, the coral fades until it looks like it’s been bleached. If the temperature stays high, the coral won’t let the algae back, and the coral will die.
The leading cause of coral bleaching is climate change. A warming planet means a warming ocean, and a change in water temperature—as little
as 2 degrees Fahrenheit—can cause coral to drive out algae. Coral may bleach for other reasons, like extremely low tides, pollution, or too much
sunlight.

Coral bleaching matters because once these corals die, reefs rarely come back. With few corals surviving, they struggle to reproduce, and entire
reef ecosystems, on which people and wildlife depend, deteriorate. Bleaching also matters because it’s not an isolated phenomenon. According to
the National Oceanic and Atmospheric Association, between 2014 and 2017 around 75 percent of the world’s tropical coral reefs experienced
heat-stress severe enough to trigger bleaching. For 30 percent of the world’s reefs, that heat-stress was enough to kill coral. Though coral



bleaching matters in some aspects yet it also impacts wildlife and human population in some ways.

Coral reefs support some of the most biodiverse ecosystems on the planet. Thousands of marine animals depend on coral reefs for survival,
including some species of sea turtles, fish, crabs, shrimp, jellyfish, sea birds, starfish, and more. Coral reefs provide shelter, spawning grounds,
and protection from predators. They also support organisms at the base of ocean food chains. As reef ecosystems collapse, already at-risk species
may face extinction. Bleached coral also compounds the overfishing crisis by removing links in the food web and depriving some fish and
crustacean species of a place to spawn and develop. Anyone relying on these animals as a primary source of income or protein will be in trouble.
Finally, reef tourism brings in billions of dollars each year and supports thousands of jobs. Bleached coral reefs, devoid of magnificent marine
species, jeopardize it all.

Sub questions

Question Number : 76 Question Id : 54062621219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following questions is not answered by the given passage?
Options :

1. * What triggers coral bleaching?

2. % Why does coral bleaching matter?

3. ¥ How does coral bleaching impact wildlife?

4. ¥ How human population can help in protecting coral reefs?

Question Number : 77 Question Id : 54062621220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, which of the following is NOT the leading cause of coral bleaching?
Options :

1. ¥ Complex food chain

2. % Too much sunlight

3. % Pollution

4. % Extremely low tides

Question Number : 78 Question Id : 54062621221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How does coral bleaching impact humans?



Options :

1. % Tourism will get affected as nobody wants to see dying coral reefs.
2. #® Changes in food web affect the appetite of humans.

3. # There will be no leisure in eating sea food.

4. ® It can cause many harmful diseases to them.

Question Number : 79 Question Id : 54062621222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the correct synonym of the word ‘precaution’ from the given passage?
Options :

1. #® Collapse

2. ¥ Preventive

3. # Expel

4. ® Magnificent

Question Number : 80 Question Id : 54062621223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What has been stated in the National Oceanic and Atmospheric Association report?

Options :

1. #® 75 percent of the world’s tropical coral reefs experienced heat-stress gentle enough to combat bleaching between 2014 and 2017.
2. ¥ 75 percent of the world’s tropical coral reefs experienced heat-stress severe enough to trigger bleaching between 2014 and 2017.
3. # More than 75 percent of the world’s tropical coral reefs experienced heat-stress severe enough to combat bleaching in 2014.

4. ® Less than 75 percent of the world’s tropical coral reefs experienced heat-stress severe enough to trigger bleaching in 2017.
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Question Number : 81 Question Id : 54062621224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafed ¥ 9 S1F-97 2 fa Weg 37
Options :

1. % 9dl

2. % dgal

3. % gt

4. 3fHR

Question Number : 81 Question Id : 54062621224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
frafafed # 9 $H-91 Weg 9= st 32
Options :

1. # 9[dI

2. % dgaf

3. % gL

4. v 3HR

Question Number : 82 Question Id : 54062621225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad 2rse o Tgad U HIF-1 82

“ggTa”
Options :
1. # dg
2. % 3[d
3. % Al
4, % gld

Question Number : 82 Question Id : 54062621225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad 2rse & Tgad U HIF-91 82

Options :
1. % dg
2.9 3{[d
3. % 3l
4, % gld




Question Number : 83 Question Id : 54062621226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fa 7T wreat 1 HfY 1 BT

0+ 3

Options :
1. % Hadq
2. % H[dd
3. % YA
4, % HY-

Question Number : 83 Question Id : 54062621226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ U Trec} o1 Y 19 B

0T+ 3
Options :
1. % Hdd
2. % H[d-
3. % Y
4, % Yg-q

Question Number : 84 Question Id : 54062621227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 7T a1 & IUYe eg &1 T Hb Nad RIM B gfd B

Iqfid IdeR Sita- § Twherdl &1 gl
Options :




1. % JER
2. % PINE
3. ¢ Tigl
4. % JHEBRY

Question Number : 84 Question Id : 54062621227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3T 7T a1 & IUYed eg &1 T B Nad RIH B gfl BT

Jqfad gaeRSigI A qwaar &t gl
Options :

1. # UgRR

2. % DI

3. ¢ gl

4, % SHDHRY

Question Number : 85 Question Id : 54062621228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofifad wrea &1 gafgar 81 8, J1d Sifo|
fem

Options :
1. % feag
2. % faar
3. % dR
4. ¢ UR

Question Number : 85 Question Id : 54062621228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Fofifad wrea &1 gafgar 81 8, J1d Sifo |
fem

Options :
1. % feag
2. % faar
3. % dR
4. ¢ UR

Question Number : 86 Question Id : 54062621229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT 7T g 1 faeh| s F1d FIfTI
fafer

Options :
1. % 3afy
2. % [AfY
3. % 3¥
4.+ A9y

Question Number : 86 Question Id : 54062621229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7T Tsg o1 faIT Tsg J1d P
fafer

Options :
1. % 3{afy
2. % fAfY
3.% %¥
4. ¢ ANy



Question Number : 87 Question Id : 54062621230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foferfad areurw & foe IRId e &1 g7 S|
Sl §fe GRT SIS Hob

Options :

1. v ST
2. % gigspa
3. % gfgumel
4. % gH&l

Question Number : 87 Question Id : 54062621230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRaa areair & folu I e &1 T IO |

Sl gfg GRT ST ST b
Options :

1. ¢ YT

2. % §igspd

3. % gfguTe

4. % e

Question Number : 88 Question Id : 54062621231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu g &1 gy 1 FHifr|

TH Hd AMRTSTIE &
Options :



1. ¢ OYH
2. % fgdg
3. % geoy
4. % 3G

Question Number : 88 Question Id : 54062621231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QU 9T &1 = J1d SIS |

I A RIS} & |
Options :

1. ¢ Uyq

2. % fgdg

3. % gy

4. % 3

Question Number : 89 Question Id : 54062621232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaRad are & 9 firy areg I1d Sifo|
Options :

1. ¢ Tfe auf Favait dl & TR Il offaT |

2. % g 7 b & HRUIH W g T4
3. % quf g1 ! gAY & W 6! T4
4. % qui T ! O ot H R =76 T

Question Number : 89 Question Id : 54062621232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRaa areai | O ey arey J1d pifve|



Options :

1. ¢ Tf aui vt dl H TR I S|
2. % Ui TP b HRUH T T8 T4
3. % guf 98l Tt gfere & TR ! T4
4. % guf Tt ftpr ot H &R 781 T |

Question Number : 90 Question Id : 54062621233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRaa aredl & I WRa a1 J1d Hifor|

Options :

1. ¢ Bl H ga- & DHRUI M = ST P 1|

2. % O [ ool § 36 1 dl I 9 HTHS T B il |
3. % fHUM 7 THSAT PR ol HiTd a8 Hol | & 7 T
4. % fHUE FHol B ZaT 3R THSAT HR |

Question Number : 90 Question Id : 54062621233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad ot O ¥ WRd are J1d DI |

Options :

1. ¥ Fol H S & HRUT (A - HTHGAT B il |

2. % O [ Fol § 36 71 dl I S9 HTHGT B il |
3. % fHUM A TaTg o o Rifdh 98 ol H gd T AT
4. % O ool § gaT 3R STEHET HR |

Question Number : 91 Question Id : 54062621234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
QU 71T Xeq DT Igd= AT DIfIT|




§er

Options :
1. % §cf
2. % §¢
3. % 9l
4. ¥ 9§

Question Number : 91 Question Id : 54062621234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
QU 71T e DT Igdo AT DI

gl

Options :
1. % §cl
2. % §
3. % §¢l
4.4 9§

Question Number : 92 Question Id : 54062621235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faU 7T arey T Iuged favm forg &1 994 Fifor|

3BT qH TR S|
Options :

1. % ;
) B _
3. %

4.9,



Question Number : 92 Question Id : 54062621235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U a1y & Iuged form fag &1 o= pifor|

ST gH TR SIS |
Options :
1. % ;

b

2'2»57
3. % .-

4.9,

Question Number : 93 Question Id : 54062621236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U a1y & Iuged form fag &1 o= pifor |

ASHT Y T TR g1 T T
Options :

1. %9

2.% ..

3.¢ |

4. %

b

Question Number : 93 Question Id : 54062621236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau ¢ a1 © Suged form fug &1 o= pifor |

TSDHT Y T SHYTRT g1 T T
Options :
1. %9

2. % .




3.¢ |

4. %

Question Number : 94 Question Id : 54062621237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue ), fau U IR faweat & ¥, 39 fawen &1 7997 & S fou U geTak & 31 ol Ia9% U § oJad Rl g |

3TET-GTd &1 UTd HIeH BT
Options :

1. % TO9 gl ST

2. % fthep H X8

3. ¢ B B U AT
4. % HIR FHTeAT

Question Number : 94 Question Id : 54062621237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferiad we , fou 0 oR fawedl & 9, 39 fadmed &1 997 & S fou U geTark & 3 ol Ia9% U I oJad HRdl ¢ |

3{TET-GTel &1 HTd JICH BT
Options :

1. % g9 g ST

2. % fioep T T

3. PP B 3IHT BT
4. % HIR MH1EA

Question Number : 95 Question Id : 54062621238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue ), fau U IR faweat & ¥, 39 fadmen &1 7997 & S fou U geTak & 31 ol Ia9% U § oJad Rl ¢ |




qRTHT °T g1
Options :

1. % QR HEME g
2. ¥ §gd AT gIHl
3. % gd GASIGR BT
4. % §gd RMETIFTEAT

Question Number : 95 Question Id : 54062621238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 70 IR fawed § 9, 39 fawed &1 9o 3 o1 fGT 70 JeTer & 31 &1 Jd9§ U ¥ oJad Hral o |

QR 19 g1
Options :

1. % QRMETHE g
2. ¥ §gd ATall gIHl
3. % ¥gd YUYGR g
4. % §gd RHETIFT G

Sub-Section Number : 2
Sub-Section Id : 5406261271
Question Shuffling Allowed : Yes

Question Id : 54062621239 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

TR B SFYdD Ug dUT TS U H IR fddwedl 7 9 8! fadwed g |

YR H 29 o4 & I8 TASH o B 3T TBIA § 1 UoTd HRA & IR | (U I § oryep! T A, Ha e 3R SHTH IRR ¢ |
UiTelt HTST 1 foifll TR & | UoiTe BRI HIST & &l RMsdl ol 3R 316 Y FIeTeh &1 § BITdfadh il H UslTd ol It R & A\ 4
QR ST T | A a1 & Hdge - 3 aaR - Jal Iy [T | Raeroll 921, s o921 3R dR 927 4 39 USTe H ¥R $Rd 38 | iR
IR TSR - I AT Bt A1d STeft | TITel! bl TG Svel T Teb el 3R S 311 ST & SNTH J TITel JrTed &1 3fd 41 g5 |
GolTd U U1 5T § SHifch Wpid | 4-a & | Y Gold o1 3fcqael &1 Yo YR § 9 Golid | a1 3R 7Ig P! Jclt 1 ol g | IolE




ﬁ@q@aa@ﬂm&m@ﬁwﬁ%wﬁvwﬂmﬁm&@ﬁ 3T B | UITST Wi Ueh o0 BT gHfdd ®d ¢ d X Ay |
URIG g1 T8l b Tl T TR HIoH TR T A1 3R TGP Bi At o | TSN H FUd b TS &1 RITTA 1957 H Th IRBR SHIR "HTq
AP Y| GoTTE T HT HA EFTHA 50362 T fhaAHICR § | AT B SeRIAIg THE IS, SR, fedred 7 uSi <1 urfarkd= 9
T € T 1966 B! Ggad UoITd BT faeed HR UolE, gRamn qut fgHrd Isd 918 T8I USTE I8 & @R a1, T4 3R 49 9 Ryl 3|

Sub questions

Question Number : 96 Question Id : 54062621240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
forg yTeT ot oIl et 82

Options :

1. % fgdt

2. % H¥pd

3. ¢ UTell

4. % BRI

Question Number : 97 Question Id : 54062621241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ToTTd Bt S aRIT T T SHTUR HT 57
Options :

1. # odl

2. ¢ PN

3. % 99

4. % Hepfa

Question Number : 98 Question Id : 54062621242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rl TS B R &l gs U2
Options :

1. # 1921



2. #® 1966
3. % 1952
4. % 1957

Question Number : 99 Question Id : 54062621243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UoTTe X0 1 1l ST T 52
Options :

1. ¢ 50362 9 fpenHier
2. % 53026 T fhaHeR
3. % 05362 9 fha@miex
4. % 50326 97 fohaliHTeR

Question Number : 100 Question Id : 54062621244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR HT IUGed NS 1 g2

Options :

3. % AP 9
4. ¢ USTTd B G

Question Id : 54062621239 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

TR DI HFFYAD ¢ 94T UAD U9 H IR fadmed! & J Tg! fadwed |

YRA H 29 I5T & FOTTH TP T D1 30 AP & | Tl HRA & IR | U IAod & Torieh! Wi id, Hal Alfecd 3R SHT Y HRGR & |
USITelt {11 b1 ol TR © | STl BIRET HTT & &l Xeal Ul SR 311d ¥ fdex o1 § Bi1dfas il & USd &) 9@ Ry & A
QBRI ST AT | A 9% & HAge - - YEGR SHR g1 s a1 | el o, Tiee a2 3R diR o1 Ht 39 Uoe & 2 a3d 8 | dlX




AR SR TS WIHTY b1 A1 STl | JITell 1 AT vl GHY b el 3R $3¢ S1STT BT b SNTHT H ITed HIHg bl sid 41 g3 |
ISITel Teb U1 X164 § Sifc AXpTd H Y-1aT 8 | PV UoTTs 1 eyl o1 JH MR g d Uols H d1aet 3R g &1 Wl &1 §lell g | Iolrd
1 TPl Hiigd, T, T 317 J Feie” o1 ¢ | I 3R Iiid a8l o1 31w 3i1T g | HiTTST Wil Ueb I o1 JHf-ad wU g d QX fay &
URIG g1 T8l & Tl T TR HISH TR BT A1 3R Hadh Bi At o | TeNTg H FUd b TS &1 RITTH 1957 H Th IRBRI 3HIR AHdq
A} | USTE T HT Hd AT 50362 I fhaiiex g | IoT B SRS WHTE ISy, giaron, ffured 7 usiit <1 e 9
T & T 1966 BT Ggard GoTTd BT fqde] HR Uold, TRATON qUT feHea o9 -1 71 USTTE 159 & @NT a, A9 3R o 9 oyl g |

Sub questions

Question Number : 96 Question Id : 54062621240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
forg yTT 1 faf gt B2

Options :

1. % fgdl

2. % &pd

3. ¢ Gulet

4. % BRI

Question Number : 97 Question Id : 54062621241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ToTTd Bt S aRT &1 T SR HT 87
Options :

1. % hdl

2. ¥ Py

3. % 9 g

4. % Hepfa

Question Number : 98 Question Id : 54062621242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R( ST DI RITIHT Hd g3 A2



Options :
1. % 1921
2. % 1966
3. % 1952
4.+ 1957

Question Number : 99 Question Id : 54062621243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

GoTTe YT &1 Hf A 1 52
Options :

1. ¢ 50362 97 fopenHer
2. % 53026 91 fheHeR
3. % 05362 9 fpamex
4. % 50326 @ fpaHeR

Question Number : 100 Question Id : 54062621244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SUad TRITRT HT Jugad e 1 g
Options :

1. % UGITq &Y fferawl

2. % TSl T QMG

3. % QD IR0

4. ¢ USTTd B G&pid

Disciplinel
Group Number : 6
Group Id : 540626847
Group Maximum Duration : 0



Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Disciplinel

Section Id : 5406261059

Section Number : 1
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Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20
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Sub-Section Number : 1

Sub-Section Id : 5406261272

Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 54062621245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

My throat began to (1)/ tight, I felt like (2)/ I was suffocating. (3)/ No error (4)
Options :

1. % 1

2.9 2

3.% 3

4. % 4



Question Number : 101 Question Id : 54062621245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

My throat began to (1)/ tight, I felt like (2)/ I was suffocating. (3)/ No error (4)
Options :

1. % 1

2.9 2

3.%3

4. % 4

Question Number : 102 Question Id : 54062621246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Two years since a (1)/ fall from a window (2)/ had injured her spine.(3)/ No error (4)
Options :

1.¥ 1

2. %2

3.%3

4. % 4

Question Number : 102 Question Id : 54062621246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Two years since a (1)/ fall from a window (2)/ had injured her spine.(3)/ No error (4)
Options :

1.1

2.% 2



3. %3
4. % 4

Question Number : 103 Question Id : 54062621247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

His steady gaze given (1)/ no indication of what (2)/ else was on his mind.(3)/ No error (4)
Options :

1.¥ 1

2.% 2

3.%3

4. % 4

Question Number : 103 Question Id : 54062621247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

His steady gaze given (1)/ no indication of what (2)/ else was on his mind.(3)/ No error (4)
Options :

1.9 1

2.% 2

3.%3

4. % 4

Question Number : 104 Question Id : 54062621248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

I didn’t think that living (1)/ with a mutilated face was (2)/ any easy than a clean death. (3)/ No error (4)



Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 104 Question Id : 54062621248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

I didn’t think that living (1)/ with a mutilated face was (2)/ any easy than a clean death. (3)/ No error (4)
Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 105 Question Id : 54062621249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The paths throughout the (1)/ entire region are well made (2)/ and easy to follow, even in the darkest. (3)/ No error (4)
Options :

1. % 1

2.% 2

3.3

4. % 4

Question Number : 105 Question Id : 54062621249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The paths throughout the (1)/ entire region are well made (2)/ and easy to follow, even in the darkest. (3)/ No error (4)
Options :

1. % 1

2. % 2

3.9 3

4. % 4

Question Number : 106 Question Id : 54062621250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

In palaeontology, some fossil (1)/ is given a unique number (2)/ for the sake of traceability. (3)/ No error (4)
Options :

1.¥ 1

2.% 2

3.%3

4. % 4

Question Number : 106 Question Id : 54062621250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

In palaeontology, some fossil (1)/ is given a unique number (2)/ for the sake of traceability. (3)/ No error (4)
Options :

1.9 1

2.% 2

3.%3

4. % 4



Question Number : 107 Question Id : 54062621251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The charioteer brought us to (1)/ a gigantic palace glittering (2)/ of gold and precious stones (3)/ No error (4)
Options :

1. %1

2. % 2

3.9 3

4. % 4

Question Number : 107 Question Id : 54062621251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The charioteer brought us to (1)/ a gigantic palace glittering (2)/ of gold and precious stones (3)/ No error (4)
Options :

1. % 1

2. % 2

3.9 3

4. % 4

Question Number : 108 Question Id : 54062621252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

We are entering into a point (1)/ where technology will (2)/ change at extreme speeds.(3)/ No error (4)
Options :

1.¥ 1

2.% 2



3. %3
4. % 4

Question Number : 108 Question Id : 54062621252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

We are entering into a point (1)/ where technology will (2)/ change at extreme speeds.(3)/ No error (4)
Options :

1.¥ 1

2.% 2

3.%3

4. % 4

Question Number : 109 Question Id : 54062621253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

When I came back to (1)/ the main room, the men were (2)/ still discussing about devils. (3)/ No error (4)
Options :

1. %1

2.% 2

3.3

4. % 4

Question Number : 109 Question Id : 54062621253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

When I came back to (1)/ the main room, the men were (2)/ still discussing about devils. (3)/ No error (4)



Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 110 Question Id : 54062621254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

All of her experiences to the (1)/ mountains had taught (2)/ her that she could trust people. (3)/ No error (4)
Options :

1.¥ 1

2. %2

3.%3

4. % 4

Question Number : 110 Question Id : 54062621254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

All of her experiences to the (1)/ mountains had taught (2)/ her that she could trust people. (3)/ No error (4)
Options :

1.¥ 1

2.% 2

3.%3

4. % 4

Question Number : 111 Question Id : 54062621255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

He had everything he needed (1)/ to stay warm in most worse (2)/ weather than he experienced. (3)/ No error (4)
Options :

1. %1

2.9 2

3.%3

4. % 4

Question Number : 111 Question Id : 54062621255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

He had everything he needed (1)/ to stay warm in most worse (2)/ weather than he experienced. (3)/ No error (4)
Options :

1. #* 1

2.9 2

3.%3

4. % 4

Question Number : 112 Question Id : 54062621256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Fans of unsuccessful teams typically (1)/ report higher levels of negative emotions (2)/ in comparison of fans of winning teams.(3)/ No error (4)
Options :

1. %1

2.% 2

3.3

4. % 4



Question Number : 112 Question Id : 54062621256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Fans of unsuccessful teams typically (1)/ report higher levels of negative emotions (2)/ in comparison of fans of winning teams.(3)/ No error (4)
Options :

1. % 1

2. % 2

3.3

4. % 4

Question Number : 113 Question Id : 54062621257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The heart rate of animals increases (1)/ rapidly while they have (2)/ aggressive encounters such as fights.(3)/ No error (4)
Options :

1. %1

2.9 2

3.%3

4. % 4

Question Number : 113 Question Id : 54062621257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The heart rate of animals increases (1)/ rapidly while they have (2)/ aggressive encounters such as fights.(3)/ No error (4)
Options :

1. #* 1

2.9 2



3. %3
4. % 4

Question Number : 114 Question Id : 54062621258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

We were sitting on the mud porch (1)/ of our hut in the evening, enjoying a strong (2)/ wind that had spring upon. (3)/ No error (4)
Options :

1. %1

2.% 2

3.3

4. % 4

Question Number : 114 Question Id : 54062621258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

We were sitting on the mud porch (1)/ of our hut in the evening, enjoying a strong (2)/ wind that had spring upon. (3)/ No error (4)
Options :

1. %1

2.% 2

3.3

4. % 4

Question Number : 115 Question Id : 54062621259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.



Your eyes have a blind spot right (1)/ outside the centre of vision, but you don’t (2)/ see a patch of blackness everywhere you look. (3)/ No error
“4)

Options :

1. % 1

2. %2

3.%3

4. ¥ 4

Question Number : 115 Question Id : 54062621259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Your eyes have a blind spot right (1)/ outside the centre of vision, but you don’t (2)/ see a patch of blackness everywhere you look. (3)/ No error
“4)

Options :

1. %1

2. %2

3.% 3

4. ¥ 4

Question Number : 116 Question Id : 54062621260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

People used to sweep the streets in night unless a machine replaced them.
Options :

1. #* in night until an
2. % at night until a
3. # at night still a

4. ¥ No improvement



Question Number : 116 Question Id : 54062621260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

People used to sweep the streets in night unless a machine replaced them.

Options :

1. #* in night until an
2. % at night until a
3. * at night still a

4. ¥ No improvement

Question Number : 117 Question Id : 54062621261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

A major UN report last year founded that one in four species is at risk.

Options :

1. # later year found which

2. ¥ last year found that

3. # founded the last year that

4. ¥ No improvement

Question Number : 117 Question Id : 54062621261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

A major UN report last year founded that one in four species is at risk.




Options :

1. # later year found which

2. ¥ last year found that

3. # founded the last year that

4. ¥ No improvement

Question Number : 118 Question Id : 54062621262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

Many native languages has been greatly diminished in the region.
Options :

1. #* have greater diminish

2. % has been greatest diminished

3. ¥ have been greatly diminished

4. % No improvement

Question Number : 118 Question Id : 54062621262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

Many native languages has been greatly diminished in the region.
Options :

1. # have greater diminish

2. # has been greatest diminished

3. % have been greatly diminished

4. ¥ No improvement

Question Number : 119 Question Id : 54062621263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

He was not enough strong to work on the farm like his brother.

Options :

1. ¥ strong enough to work on

2. # strongest enough to work at
3. # enough stronger working on

4. ¥ No improvement

Question Number : 119 Question Id : 54062621263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

He was not enough strong to work on the farm like his brother.

Options :

1. ¥ strong enough to work on

2. % strongest enough to work at
3. # enough stronger working on

4. % No improvement

Question Number : 120 Question Id : 54062621264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

Two hundred years ago there lived in Boston a little boy which name was Benjamin Franklin.

Options :

1. # in Boston the little boy who named



2. # alittle boy named in Boston
3. % alittle boy in Boston whose name

4. ¥ No improvement

Question Number : 120 Question Id : 54062621264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

Two hundred years ago there lived in Boston a little boy which name was Benjamin Franklin.

Options :

1. * in Boston the little boy who named
2. % alittle boy named in Boston

3. % a little boy in Boston whose name

4. ¥ No improvement
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Question Number : 121 Question Id : 54062621265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

Nicest thing about the small town of Bucklin situated in Kansas is its cemetery.
Options :

1. ¥ The nicest thing about

2. # A nicest things about

3. ® The nice thing of

4. ¥ No improvement

Question Number : 121 Question Id : 54062621265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

Nicest thing about the small town of Bucklin situated in Kansas is its cemetery.
Options :

1. ¥ The nicest thing about

2. % A nicest things about




3. % The nice thing of

4. ¥ No improvement

Question Number : 122 Question Id : 54062621266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

The chains pass over lofty piers on which they usually rest on saddles carried by rollers.

Options :

1. % passes over lofty piers at which
2. ® pass across lofty piers over which
3. % passes across lofty piers in that

4. ¥ No improvement

Question Number : 122 Question Id : 54062621266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

The chains pass over lofty piers on which they usually rest on saddles carried by rollers.

Options :

1. # passes over lofty piers at which
2. # pass across lofty piers over which
3. % passes across lofty piers in that

4. ¥ No improvement

Question Number : 123 Question Id : 54062621267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No



improvement’ as your answer.

A campfire was burning bright with a crackly sound, throwing out light far around on the ploughed earth.
Options :

1. # burnt brightly with a crack

2. ¥ was burning brightly with a crackling

3. % was cracking with a bright sound

4. ¥ No improvement

Question Number : 123 Question Id : 54062621267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

A campfire was burning bright with a crackly sound, throwing out light far around on the ploughed earth.

Options :

1. ® burnt brightly with a crack

2. ¥ was burning brightly with a crackling
3. % was cracking with a bright sound

4. ® No improvement

Question Number : 124 Question Id : 54062621268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

There is real concern that the disruption of the last year would cause lasting education harms to generation of school children.
Options :

1. ¥ will cause lasting educational harm to a
2. % lasting education harm will cause
3. % would cause educational harm lasting to a

4. ¥ No improvement



Question Number : 124 Question Id : 54062621268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

There is real concern that the disruption of the last year would cause lasting education harms to generation of school children.

Options :

1. ¥ will cause lasting educational harm to a
2. # lasting education harm will cause

3. % would cause educational harm lasting to a

4. ¥ No improvement

Question Number : 125 Question Id : 54062621269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

Coastline erosion brought to sharp focus on Wales when a major 40m landslide fell onto a beach in Gwynedd in April.

Options :

1. * has brought sharp focus on

2. # was being brought in sharper focus at
3. ¥ was brought into sharp focus in

4. ¥ No improvement

Question Number : 125 Question Id : 54062621269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

Coastline erosion brought to sharp focus on Wales when a major 40m landslide fell onto a beach in Gwynedd in April.



Options :

1. # has brought sharp focus on

2. # was being brought in sharper focus at
3. ¥ was brought into sharp focus in

4. ¥ No improvement

Question Number : 126 Question Id : 54062621270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank to complete the given sentence by choosing the appropriate word from the given options.

The captain returned to the room, limping and whistling a tune.
Options :

1. # slightest

2. # glighter

3. % slight

4. ¥ slightly

Question Number : 126 Question Id : 54062621270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank to complete the given sentence by choosing the appropriate word from the given options.

The captain returned to the room, limping and whistling a tune.
Options :

1. # slightest

2. % slighter

3. % slight

4. ¥ slightly

Question Number : 127 Question Id : 54062621271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Fill in the blank to complete the given sentence by choosing the appropriate word from the given options.

Either he would give her due respect he could find another sitter.
Options :

1. % and

2. % nor

3.9 or

4. * also

Question Number : 127 Question Id : 54062621271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank to complete the given sentence by choosing the appropriate word from the given options.

Either he would give her due respect he could find another sitter.
Options :

1. * and

2. % nor

3.%¥ or

4, % also

Question Number : 128 Question Id : 54062621272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank to complete the given sentence by choosing the appropriate word from the given options.

Why are you putting your coat on? It is not time to go
Options :

1. # but

2. % else

3.9 yet

4. % g0



Question Number : 128 Question Id : 54062621272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank to complete the given sentence by choosing the appropriate word from the given options.

Why are you putting your coat on? It is not time to go
Options :

1. * but

2. % else

3.9 yet

4. ® 50

Question Number : 129 Question Id : 54062621273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank to complete the given sentence by choosing the appropriate word from the given options.

My sister not only speaks French fluently writes clearly.

Options :

1. ¥ but also
2. % and

3. % or

4. % also

Question Number : 129 Question Id : 54062621273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank to complete the given sentence by choosing the appropriate word from the given options.

My sister not only speaks French fluently writes clearly.
Options :
1. ¥ but also

2. % and



3. % or

4. % also

Question Number : 130 Question Id : 54062621274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank to complete the given sentence by choosing the appropriate word from the given options.

He madethe ~ statement in a tone of distinct regret.
Options :

1. ¥ last

2. % least

3. # later

4. # latter

Question Number : 130 Question Id : 54062621274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank to complete the given sentence by choosing the appropriate word from the given options.

He made the  statement in a tone of distinct regret.
Options :

1. ¥ last

2. % least

3. ® later

4. # latter

Question Number : 131 Question Id : 54062621275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank to complete the given sentence by choosing the appropriate word from the given options.

They feared to spare him lest he report the matter to the king.



Options :
1. ¥ should
2. % will
3. % could

4. * may

Question Number : 131 Question Id : 54062621275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank to complete the given sentence by choosing the appropriate word from the given options.

They feared to spare him lest he report the matter to the king.

Options :
1. ¥ should
2. % will
3. % could

4. * may

Question Number : 132 Question Id : 54062621276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the appropriate prepositions from the given options to fill in the blanks and complete the sentence.

While shaving the polyp, the doctor also accidentally shaved the bridge my nose and the bridge collapsed.
Options :

1. # over, with

2. % off, of

3. % on, of

4. % out, on

Question Number : 132 Question Id : 54062621276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Choose the appropriate prepositions from the given options to fill in the blanks and complete the sentence.

While shaving the polyp, the doctor also accidentally shaved the bridge my nose and the bridge collapsed.
Options :

1. ® over, with

2. % off, of

3. ® on, of

4. # out, on

Question Number : 133 Question Id : 54062621277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the appropriate prepositions from the given options to fill in the blanks and complete the sentence.

To have people connect climate, we need to have more conversations how people are working to solve it.
Options :

1. % on, about

2. #* in, on

3. # for, through

4. % about, upon

Question Number : 133 Question Id : 54062621277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the appropriate prepositions from the given options to fill in the blanks and complete the sentence.

To have people connect climate, we need to have more conversations how people are working to solve it.
Options :

1. % on, about

2. % in, on

3. % for, through

4. % about, upon



Question Number : 134 Question Id : 54062621278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the appropriate prepositions from the given options to fill in the blanks and complete the sentence.

I will meet you Tuesday afternoon to discuss all the anomalies this project.
Options :

1. # on, to

2. % in, for

3. ¥ on, of

4. * at, on

Question Number : 134 Question Id : 54062621278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the appropriate prepositions from the given options to fill in the blanks and complete the sentence.

I will meet you Tuesday afternoon to discuss all the anomalies this project.
Options :

1. * on,to

2. % in, for

3. ¥ on, of

4. % at, on

Question Number : 135 Question Id : 54062621279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the appropriate verbs from the given options to fill in the blanks and complete the sentence.

IfI given a chance to change this world I defined proper laws for education.
Options :
1. # could, did

2. % would, have



3. ® was, had

4. ¥ were, would have

Question Number : 135 Question Id : 54062621279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the appropriate verbs from the given options to fill in the blanks and complete the sentence.

IfI given a chance to change this world [ defined proper laws for education.
Options :

1. * could, did

2. # would, have

3. #* was, had

4. % were, would have

Question Number : 136 Question Id : 54062621280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the appropriate verbs from the given options to fill in the blanks and complete the sentence.

We were trained and groomed until we the absolute best versions of ourselves that we possibly be.
Options :

1. ¥ were, could

2. % had, can

3. * would have been, were

4. ® are, can

Question Number : 136 Question Id : 54062621280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the appropriate verbs from the given options to fill in the blanks and complete the sentence.

We were trained and groomed until we the absolute best versions of ourselves that we possibly be.



Options :

1. ¥ were, could

2. * had, can

3. * would have been, were

4. ® are, can

Question Number : 137 Question Id : 54062621281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blanks to complete the given sentence by choosing the appropriate words from the given options.

Their problems were by their struggle with the system, which she considered abusive.
Options :

1. # cancelled, merrily

2. # truncated, harmoniously

3. % ridiculed, intensely

4. ¥ exacerbated, emotionally

Question Number : 137 Question Id : 54062621281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blanks to complete the given sentence by choosing the appropriate words from the given options.

Their problems were by their struggle with the system, which she considered abusive.
Options :

1. # cancelled, merrily

2. # truncated, harmoniously

3. * ridiculed, intensely

4. ¥ exacerbated, emotionally

Question Number : 138 Question Id : 54062621282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Fill in the blanks to complete the given sentence by choosing the appropriate words from the given options.

The Atlantic blue fin tuna is a/an species while the white shark is classed as
Options :

1. ¥ endangered, vulnerable

2. % endemic, tractable

3. % ludicrous, aboriginal

4. ® morbid, threatened

Question Number : 138 Question Id : 54062621282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blanks to complete the given sentence by choosing the appropriate words from the given options.

The Atlantic blue fin tuna is a/an species while the white shark is classed as
Options :

1. ¥ endangered, vulnerable

2. % endemic, tractable

3. * ludicrous, aboriginal

4. * morbid, threatened

Question Number : 139 Question Id : 54062621283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blanks to complete the given sentence by choosing the appropriate words from the given options.

Use a light, mulch that allows good air , such as pine needles or straw.
Options :

1. * obdurate, communication

2. ¥ pliable, circulation

3. # coarse, transmission

4. % churlish, propagation



Question Number : 139 Question Id : 54062621283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blanks to complete the given sentence by choosing the appropriate words from the given options.

Use a light, mulch that allows good air , such as pine needles or straw.
Options :

1. # obdurate, communication

2. ¥ pliable, circulation

3. # coarse, transmission

4. # churlish, propagation

Question Number : 140 Question Id : 54062621284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blanks to complete the given sentence by choosing the appropriate words from the given options.

As we make to the post-pandemic era and its new forms of flexible work, companies may well focus more on
Options :

1. ® accelerate, dissemination

2. # prevail, calamity

3. % transition, functionality

4. # relocate, dividend

Question Number : 140 Question Id : 54062621284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blanks to complete the given sentence by choosing the appropriate words from the given options.

As we make to the post-pandemic era and its new forms of flexible work, companies may well focus more on
Options :
1. # accelerate, dissemination

2. % prevail, calamity



3. % transition, functionality

4. # relocate, dividend

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 141 Question Id : 54062621285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Following are parts of a single sentence. Pick the grammatically correct parts among these and choose the combination with the numbers of these
correct parts.

(1) He 1s nor used to

(i1) Talking about his childhood
(ii1) And it brought

(iv) Up turbulent memories.
Options :

1. ¥ (ii) and (iv)

2. % (i) and (iii)

3. % Only (iv)

4. % Only (iii)

Question Number : 141 Question Id : 54062621285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Following are parts of a single sentence. Pick the grammatically correct parts among these and choose the combination with the numbers of these
correct parts.

(1) He is nor used to

(i1) Talking about his childhood
(ii1) And it brought

(iv) Up turbulent memories.
Options :

1. % (ii) and (iv)

2. % (i) and (iii)

3. % Only (iv)

4. % Only (iii)

Question Number : 142 Question Id : 54062621286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Following are parts of a single sentence. Pick the grammatically correct parts among these and choose the combination with the numbers of these
correct parts.



(1) The whole island is

(i1)) Mountainous, and is remarkably
(iii) To its beautiful sceneries

(1v) And its fertility.

Options :

1. # (i) and (iii)

2. % (ii) and (iv)

3. % Only (iii)

4. % (i) and (iv)

Question Number : 142 Question Id : 54062621286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Following are parts of a single sentence. Pick the grammatically correct parts among these and choose the combination with the numbers of these
correct parts.

(1) The whole island is

(i) Mountainous, and is remarkably
(111) To its beautiful sceneries

(iv) And its fertility.

Options :

1. ® (i) and (iii)

2. # (ii) and (iv)

3. % Only (iii)

4. % (i) and (iv)

Question Number : 143 Question Id : 54062621287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Following are parts of a single sentence. Pick the grammatically correct parts among these and choose the combination with the numbers of these
correct parts.

(1) Pinterest have taken a bold step in
(i1) To Become the first major



(ii1) Social media network
(iv) To ban weight loss adverts.

Options :

1. % (iii) and (iv)
2. % (i) and (iv)
3. % (i) and (ii)
4. % Only (iii)

Question Number : 143 Question Id : 54062621287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Following are parts of a single sentence. Pick the grammatically correct parts among these and choose the combination with the numbers of these
correct parts.

(1) Pinterest have taken a bold step in
(i1) To Become the first major

(ii1) Social media network

(iv) To ban weight loss adverts.

Options :

1. ¥ (iii) and (iv)
2. % (i) and (iv)
3. % (i) and (ii)
4. % Only (iii)

Question Number : 144 Question Id : 54062621288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Following are parts of a single sentence. Pick the grammatically correct parts among these and choose the combination with the numbers of these
correct parts.

(1) We found that you can replace up to 10 percent
(i1) Of the sand in concrete with

(ii1) The plastic, and it had the same

(1v) Strength and the same longevity

Options :



1. # Only (iv)

2. (i), (ii) and (iv)
3. % (i) and (iv)

4. % (ii) and (iii)

Question Number : 144 Question Id : 54062621288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Following are parts of a single sentence. Pick the grammatically correct parts among these and choose the combination with the numbers of these
correct parts.

(1) We found that you can replace up to 10 percent
(i1) Of the sand in concrete with

(ii1) The plastic, and it had the same

(1v) Strength and the same longevity

Options :

1. # Only (iv)

2. % (i), (ii) and (iv)
3. % (i) and (iv)

4. % (ii) and (iii)

Question Number : 145 Question Id : 54062621289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Following are parts of a single sentence. Pick the grammatically correct parts among these and choose the combination with the numbers of these
correct parts.

(1) It was decided that the young man should
(i1) Spend the years of his captivity under the
(111) Strictest supervision in one of the lodge
(iv) In the banker's garden.

Options :
1. #® (i) and (iv)
2. % Only (ii)



3. (i), (ii) and (iv)
4. % (ii) and (iii)

Question Number : 145 Question Id : 54062621289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Following are parts of a single sentence. Pick the grammatically correct parts among these and choose the combination with the numbers of these
correct parts.

(1) It was decided that the young man should
(i1) Spend the years of his captivity under the
(iii) Strictest supervision in one of the lodge
(1v) In the banker's garden.

Options :

1. # (i) and (iv)

2. % Only (ii)

3. % (i), (ii) and (iv)
4. % (ii) and (iii)

Question Number : 146 Question Id : 54062621290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the sentence from the given options that conforms to Standard English Usage.
Options :

1. ¥ Genealogy websites are designed to allow people to find long-lost relatives.

2. # Genealogy websites are designed to allow people to finding longer lose relatives.
3. ® Genealogy websites has been designed to allow people to found long-lost relatives.

4. # Genealogy websites are designed allowing people finding long-lost relatives.

Question Number : 146 Question Id : 54062621290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the sentence from the given options that conforms to Standard English Usage.



Options :

1. ¥ Genealogy websites are designed to allow people to find long-lost relatives.

2. % Genealogy websites are designed to allow people to finding longer lose relatives.
3. # Genealogy websites has been designed to allow people to found long-lost relatives.

4. ® Genealogy websites are designed allowing people finding long-lost relatives.

Question Number : 147 Question Id : 54062621291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the sentence from the given options that conforms to Standard English Usage.
Options :

1. # He did not knew whether he should take the right-hand fork or the left-hand.

2. ¥ He did not know whether he should take the right-hand fork or the left-hand.

3. % He did not know if he shall take the right-hand fork or the left-hand.

4. ® He did not know whether the right-hand fork or the left-hand shall be taken.

Question Number : 147 Question Id : 54062621291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the sentence from the given options that conforms to Standard English Usage.
Options :

1. # He did not knew whether he should take the right-hand fork or the left-hand.

2. ¥ He did not know whether he should take the right-hand fork or the left-hand.

3. # He did not know if he shall take the right-hand fork or the left-hand.

4. % He did not know whether the right-hand fork or the left-hand shall be taken.

Question Number : 148 Question Id : 54062621292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the sentence from the given options that conforms to Standard English Usage.
Options :

1. # Plenty of peer-reviewed papers not addressed in IPCC documentation presently far most pessimistic scenarios.



2. # Plenty of peer-reviewed papers not addressing in IPCC documentation presented far more pessimist scenarios.
3. % Plenty of peer-reviewed papers none addressing in IPCC documentation presents far much pessimistic scenarios.

4. ¥ Plenty of peer-reviewed papers not addressed in IPCC documentation present far more pessimistic scenarios.

Question Number : 148 Question Id : 54062621292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the sentence from the given options that conforms to Standard English Usage.

Options :

1. # Plenty of peer-reviewed papers not addressed in IPCC documentation presently far most pessimistic scenarios.
2. % Plenty of peer-reviewed papers not addressing in IPCC documentation presented far more pessimist scenarios.

3. # Plenty of peer-reviewed papers none addressing in IPCC documentation presents far much pessimistic scenarios.

4. ¥ Plenty of peer-reviewed papers not addressed in IPCC documentation present far more pessimistic scenarios.

Question Number : 149 Question Id : 54062621293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the sentence from the given options that conforms to Standard English Usage.

Options :

1. ¥ Many organisations hesitate changing work conditions as they belief it will have a negative impact on their productivity.

2. ¥ Many organisations hesitate to change working conditions as they believe it will have a negative impact on their productivity.

3. # Many organisations hesitates changing working conditions as they are believing it will have a negative impact on their productivity.

4. ® Many organisations hesitate to change conditions of working for believe that productivity would have a negative impact.

Question Number : 149 Question Id : 54062621293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the sentence from the given options that conforms to Standard English Usage.

Options :

1. # Many organisations hesitate changing work conditions as they belief it will have a negative impact on their productivity.

2. ¥ Many organisations hesitate to change working conditions as they believe it will have a negative impact on their productivity.

3. # Many organisations hesitates changing working conditions as they are believing it will have a negative impact on their productivity.



4. % Many organisations hesitate to change conditions of working for believe that productivity would have a negative impact.

Question Number : 150 Question Id : 54062621294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the sentence from the given options that conforms to Standard English Usage.

Options :

1. ¥ Gap’s prime store locations with their inevitable high rents and business rates contributed significantly to their costs.
2. ® Gap prime store’s locations with their inevitably high rents and business rates contributing significantly to its costs.
3. ® Gap’s prime store locations with it’s inevitable high rents and business rates to contribute significantly to their costs.

4. ® Gap’s prime store locations by their inevitable high rents and business rates significantly contributed to there costs.

Question Number : 150 Question Id : 54062621294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the sentence from the given options that conforms to Standard English Usage.

Options :

1. ¥ Gap’s prime store locations with their inevitable high rents and business rates contributed significantly to their costs.
2. % Gap prime store’s locations with their inevitably high rents and business rates contributing significantly to its costs.
3. ® Gap’s prime store locations with it’s inevitable high rents and business rates to contribute significantly to their costs.

4. ® Gap’s prime store locations by their inevitable high rents and business rates significantly contributed to there costs.

Question Number : 151 Question Id : 54062621295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

She turned everyone against me.

Options :

1. ¥ Everyone was turned against me by her.

2. # Everyone has been turned against me by her.

3. % By her everyone had been turned against.



4. ® Against me everyone is turned by her.

Question Number : 151 Question Id : 54062621295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

She turned everyone against me.

Options :

1. ¥ Everyone was turned against me by her.

2. # Everyone has been turned against me by her.
3. % By her everyone had been turned against.

4. % Against me everyone is turned by her.

Question Number : 152 Question Id : 54062621296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

A former Vice Chancellor levelled these charges.

Options :

1. # These charges had been levelled by a former Vice Chancellor.
2. % These charges were levelled by a former Vice Chancellor.

3. ® These charges have been levelled by a former Vice Chancellor.

4. ® These charges is been levelled by a former Vice Chancellor.

Question Number : 152 Question Id : 54062621296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.



A former Vice Chancellor levelled these charges.

Options :

1. #® These charges had been levelled by a former Vice Chancellor.
2. ¥ These charges were levelled by a former Vice Chancellor.

3. # These charges have been levelled by a former Vice Chancellor.

4. ® These charges is been levelled by a former Vice Chancellor.

Question Number : 153 Question Id : 54062621297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

Had the balloons been filled by him?
Options :

1. # Is the balloons being filled?

2. % Had he filled the balloons?

3. % Were the balloons filled?

4. % Did he fill the balloons?

Question Number : 153 Question Id : 54062621297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

Had the balloons been filled by him?
Options :

1. # Is the balloons being filled?

2. % Had he filled the balloons?

3. ¥ Were the balloons filled?

4. ® Did he fill the balloons?



Question Number : 154 Question Id : 54062621298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

I cannot explain my ordeal to you.

Options :

1. % My ordeal could not be explained to you by me.
2. % My ordeal might not be explained by myself.

3. # To you my ordeal could not been explained.

4. ¥ My ordeal cannot be explained to you.

Question Number : 154 Question Id : 54062621298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

I cannot explain my ordeal to you.

Options :

1. # My ordeal could not be explained to you by me.
2. ¥ My ordeal might not be explained by myself.

3. % To you my ordeal could not been explained.

4. ¥ My ordeal cannot be explained to you.

Question Number : 155 Question Id : 54062621299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

Let me hire a cab driver for this journey.



Options :

1. #® You are suggested to hire a cab driver for this journey by me.
2. ¥ Let a cab driver be hired by me for this journey.

3. # Let this journey be covered by hiring a cab driver.

4. ® You are suggested to let me hire a cab driver for this journey.

Question Number : 155 Question Id : 54062621299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

Let me hire a cab driver for this journey.

Options :

1. # You are suggested to hire a cab driver for this journey by me.
2. ¥ Let a cab driver be hired by me for this journey.

3. # Let this journey be covered by hiring a cab driver.

4. # You are suggested to let me hire a cab driver for this journey.

Question Number : 156 Question Id : 54062621300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

All the students are packing their bags for a trip.

Options :

1. ¥ The bags for a trip are being packed by all the students.
2. % A bag is being packed by all the students for a trip.

3. # The bags have been packed by all the students for a trip.
4. ® A bag was packed by all the students for a trip.

Question Number : 156 Question Id : 54062621300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive/Active voice.

All the students are packing their bags for a trip.

Options :

1. ¥ The bags for a trip are being packed by all the students.
2. % A bag is being packed by all the students for a trip.

3. # The bags have been packed by all the students for a trip.
4. ® A bag was packed by all the students for a trip.

Question Number : 157 Question Id : 54062621301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

The students said, “We were enjoying ourselves.”

Options :

1. # The students said that we were enjoying themselves.

2. % The students said that they were enjoying themselves.

3. % The students said that they had been enjoying themselves.

4. % The students said that we were enjoying ourselves.

Question Number : 157 Question Id : 54062621301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

The students said, “We were enjoying ourselves.”
Options :

1. #® The students said that we were enjoying themselves.



2. # The students said that they were enjoying themselves.
3. ¥ The students said that they had been enjoying themselves.

4. # The students said that we were enjoying ourselves.

Question Number : 158 Question Id : 54062621302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

The manager said that he had been playing football since 1992.
Options :

1. ® The manager said, “I played football since 1992.”

2. % The manager said, “I am playing football since 1992.”

3. #® The manager told, “I play football since 1992.”

4. ¥ The manager said, “I have been playing football since 1992.”

Question Number : 158 Question Id : 54062621302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

The manager said that he had been playing football since 1992.
Options :

1. ¥ The manager said, “I played football since 1992.”

2. # The manager said, “I am playing football since 1992.”

3. # The manager told, “I play football since 1992.”

4. ¥ The manager said, “I have been playing football since 1992.”

Question Number : 159 Question Id : 54062621303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

The beggar said to me, “Please give me something to eat.”
Options :

1. ¥ The beggar requested to give him something to eat.

2. # The beggar asked to me that give him something to eat.

3. # The beggar said to me that give him something to eat.

4. # The beggar requested that I should give him something to eat.

Question Number : 159 Question Id : 54062621303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

The beggar said to me, “Please give me something to eat.”
Options :

1. ¥ The beggar requested to give him something to eat.

2. # The beggar asked to me that give him something to eat.

3. # The beggar said to me that give him something to eat.

4. ® The beggar requested that I should give him something to eat.

Question Number : 160 Question Id : 54062621304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

My father said to my mother, “Don’t give up on your dreams.”
Options :

1. ¥ My father suggested my mother not to give up on her dreams.
2. # My father recommended my mother that no need to give up.

3. % My father told my mother that you don’t need to give up on your dreams.



4. % My father ordered my mother to not given up on your dreams.

Question Number : 160 Question Id : 54062621304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

My father said to my mother, “Don’t give up on your dreams.”

Options :

1. ¥ My father suggested my mother not to give up on her dreams.

2. % My father recommended my mother that no need to give up.

3. # My father told my mother that you don’t need to give up on your dreams.

4. ® My father ordered my mother to not given up on your dreams.
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Question Number : 161 Question Id : 54062621305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

“Brother, I cannot believe you sold our dream house without asking me.” Mrs. Williams shouted

Options :

1. # Mrs. Williams shouted that she cannot believe that he had sold their dream house without asking.

2. ¥ Mrs. Williams shouted at her brother that she could not believe that he had sold their dream house without asking her.
3. # Mrs. Williams said to her brother that she cannot believe that he did sell their dream house without asking her.

4. % Mrs. Williams said to her brother that she could not believe that brother is selling their dream house without asking.

Question Number : 161 Question Id : 54062621305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

“Brother, I cannot believe you sold our dream house without asking me.” Mrs. Williams shouted

Options :

1. #® Mrs. Williams shouted that she cannot believe that he had sold their dream house without asking.

2. % Mrs. Williams shouted at her brother that she could not believe that he had sold their dream house without asking her.
3. % Mrs. Williams said to her brother that she cannot believe that he did sell their dream house without asking her.

4. % Mrs. Williams said to her brother that she could not believe that brother is selling their dream house without asking.



Question Number : 162 Question Id : 54062621306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

The blue team said, “Hurray! We finally won this tournament.”

Options :

1. #® The blue team exclaimed with excitement that they finally won that tournament.
2. ¥ The blue team exclaimed with joy that they finally had won that tournament.

3. % The blue team exclaimed that they finally won this tournament.

4. ® The blue team exclaimed with satisfaction that they finally had won this tournament.

Question Number : 162 Question Id : 54062621306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

The blue team said, “Hurray! We finally won this tournament.”

Options :

1. # The blue team exclaimed with excitement that they finally won that tournament.
2. ¥ The blue team exclaimed with joy that they finally had won that tournament.

3. # The blue team exclaimed that they finally won this tournament.

4. % The blue team exclaimed with satisfaction that they finally had won this tournament.

Question Number : 163 Question Id : 54062621307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, there is a sentence of which some parts have been jumbled up. Rearrange these parts which are labelled P, Q, R and S to
produce the correct sentence. Choose the proper sequence.

Adult learners



P: analyse elements of a

Q: using their own existing

R: new language and make links
S: language knowledge

Options :

1. ¥ PSQR
2. % QPRS
3. % PRQS
4. % RSPQ

Question Number : 163 Question Id : 54062621307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, there is a sentence of which some parts have been jumbled up. Rearrange these parts which are labelled P, Q, R and S to
produce the correct sentence. Choose the proper sequence.

Adult learners

P: analyse elements of a

Q: using their own existing

R: new language and make links
S: language knowledge

Options :

1. # PSQR
2. % QPRS
3. ¥ PRQS
4. ¥ RSPQ

Question Number : 164 Question Id : 54062621308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, there is a sentence of which some parts have been jumbled up. Rearrange these parts which are labelled P, Q, R and S to
produce the correct sentence. Choose the proper sequence.

Just because
P: I dropped at your feet



Q: for five years doesn't
R: whenever you called
S: mean [ will do it now

Options :

1. ¥ PRQS
2. % SPQR
3. ¥ QRSP
4. % RQPS

Question Number : 164 Question Id : 54062621308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, there is a sentence of which some parts have been jumbled up. Rearrange these parts which are labelled P, Q, R and S to
produce the correct sentence. Choose the proper sequence.

Just because

P: I dropped at your feet
Q: for five years doesn't
R: whenever you called
S: mean I will do it now

Options :

1. ¥ PRQS
2. % SPQR
3. % QRSP
4. % RQPS

Question Number : 165 Question Id : 54062621309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, there is a sentence of which some parts have been jumbled up. Rearrange these parts which are labelled P, Q, R and S to
produce the correct sentence. Choose the proper sequence.

She has to
P: it and she will call back later
Q: know when she will be here



R: this morning to let me
S: talk to her father about

Options :

1. # QPSR
2. ¥ SPRQ
3. % QRPS
4. ¥ PRSQ

Question Number : 165 Question Id : 54062621309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, there is a sentence of which some parts have been jumbled up. Rearrange these parts which are labelled P, Q, R and S to
produce the correct sentence. Choose the proper sequence.

She has to

P: it and she will call back later
Q: know when she will be here
R: this morning to let me

S: talk to her father about

Options :

1. ¥ QPSR
2. ¥ SPRQ
3. % QRPS
4. % PRSQ

Question Number : 166 Question Id : 54062621310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, there is a sentence of which some parts have been jumbled up. Rearrange these parts which are labelled P, Q, R and S to
produce the correct sentence. Choose the proper sequence.

One study
P: trained dogs and their handlers
Q: we conducted involved



R: primary schools in south Wales
S: doing weekly sessions in six

Options :

1. # PSQR
2. % SPQR
3. ¥ QPSR
4. ¥ SRQP

Question Number : 166 Question Id : 54062621310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, there is a sentence of which some parts have been jumbled up. Rearrange these parts which are labelled P, Q, R and S to
produce the correct sentence. Choose the proper sequence.

One study

P: trained dogs and their handlers
Q: we conducted involved

R: primary schools in south Wales
S: doing weekly sessions in six

Options :

1. ¥ PSQR
2. % SPQR
3. % QPSR
4. % SRQP

Question Number : 167 Question Id : 54062621311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, there is a sentence of which some parts have been jumbled up. Rearrange these parts which are labelled P, Q, R and S to
produce the correct sentence. Choose the proper sequence.

P: Daniel was beckoned by a waiter to the only vacant table that was discernible.

Q: He took his seat with the uncomfortable and wholly groundless idea.

R: As nearly everyone in the room was staring at him.

S: After settling down he ordered his lunch and waited, with nothing to do but to stare at the flower vase on his table.



Options :

1. # SPQR
2. % SQRP
3. ¥ PQRS
4. ¥ PSRQ

Question Number : 167 Question Id : 54062621311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, there is a sentence of which some parts have been jumbled up. Rearrange these parts which are labelled P, Q, R and S to
produce the correct sentence. Choose the proper sequence.

P: Daniel was beckoned by a waiter to the only vacant table that was discernible.

Q: He took his seat with the uncomfortable and wholly groundless idea.

R: As nearly everyone in the room was staring at him.

S: After settling down he ordered his lunch and waited, with nothing to do but to stare at the flower vase on his table.

Options :

1. % SPQR
2. % SQRP
3. ¥ PQRS
4. % PSRQ

Question Number : 168 Question Id : 54062621312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

In the given question, there is a sentence of which some parts have been jumbled up. Rearrange these parts which are labelled P, Q, R and S to
produce the correct sentence. Choose the proper sequence.

P: We were one of the first on the scene, and several of us have already gotten heat exhaustion.

Q: I am a fire fighter currently battling the Bootleg fire in southern Oregon.

R: I am part of a crew that arrived last Thursday.

S: One guy got fuel in his eye from a water pump and two of our division’s masticators burned up.
Options :

1. # QSRP



2. ¥ QRPS
3. # SRPQ
4. % RSPQ

Question Number : 168 Question Id : 54062621312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, there is a sentence of which some parts have been jumbled up. Rearrange these parts which are labelled P, Q, R and S to
produce the correct sentence. Choose the proper sequence.

P: We were one of the first on the scene, and several of us have already gotten heat exhaustion.

Q: I am a fire fighter currently battling the Bootleg fire in southern Oregon.

R: I am part of a crew that arrived last Thursday.

S: One guy got fuel in his eye from a water pump and two of our division’s masticators burned up.

Options :

1. ¥ QSRP
2. % QRPS
3. % SRPQ
4. % RSPQ

Question Number : 169 Question Id : 54062621313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, there is a sentence of which some parts have been jumbled up. Rearrange these parts which are labelled P, Q, R and S to
produce the correct sentence. Choose the proper sequence.

P: It will further boost their comprehension skills and reading fluency.

Q: Watching video content with same language subtitles can improve children’s decoding skills.

R: Research shows that turning on subtitles in the same language as the TV show or film can indeed improve children’s reading skills.
S: It can also help them improve their vocabulary.

Options :

1. ¥ RQSP
2. % SPRQ
3. % QRPS



4. % PRQS

Question Number : 169 Question Id : 54062621313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, there is a sentence of which some parts have been jumbled up. Rearrange these parts which are labelled P, Q, R and S to
produce the correct sentence. Choose the proper sequence.

P: It will further boost their comprehension skills and reading fluency.

Q: Watching video content with same language subtitles can improve children’s decoding skills.

R: Research shows that turning on subtitles in the same language as the TV show or film can indeed improve children’s reading skills.
S: It can also help them improve their vocabulary.

Options :

1. ¥ RQSP
2. % SPRQ
3. % QRPS
4. % PRQS

Question Number : 170 Question Id : 54062621314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, there is a sentence of which some parts have been jumbled up. Rearrange these parts which are labelled P, Q, R and S to
produce the correct sentence. Choose the proper sequence.

P: We are deeply connected to these microbes in a biological and evolutionary sense.

Q: There is growing recognition that this invisible biodiversity plays a fundamental role in our health.

R: Our bodies are vibrant natural theatres hosting trillions of bacteria, viruses, fungi and other microorganisms.
S: These microbes also play a crucial role in maintaining the health of our ecosystems.

Options :

1. # QPRS
2. % RQSP
3. % SPQR
4. ¥ RPQS



Question Number : 170 Question Id : 54062621314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, there is a sentence of which some parts have been jumbled up. Rearrange these parts which are labelled P, Q, R and S to
produce the correct sentence. Choose the proper sequence.

P: We are deeply connected to these microbes in a biological and evolutionary sense.

Q: There is growing recognition that this invisible biodiversity plays a fundamental role in our health.

R: Our bodies are vibrant natural theatres hosting trillions of bacteria, viruses, fungi and other microorganisms.
S: These microbes also play a crucial role in maintaining the health of our ecosystems.

Options :

1. # QPRS
2. % RQSP
3. ¥ SPQR
4. ¥ RPQS

Question Number : 171 Question Id : 54062621315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who wrote “The Tragical History of Doctor Faustus™?
Options :

1. # William Shakespeare

2. % Christopher Marlowe

3. % Ben Johnson

4. % John Webster

Question Number : 171 Question Id : 54062621315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who wrote “The Tragical History of Doctor Faustus™?
Options :

1. * William Shakespeare

2. % Christopher Marlowe



3. ¥ Ben Johnson
4. ® John Webster

Question Number : 172 Question Id : 54062621316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A tenor of a metaphor is:

Options :

1. ¥ The subject of the metaphor

2. # The degree of comparison

3. # A word used for comparison. For example — like, as etc.

4. ® The metaphorical term itself

Question Number : 172 Question Id : 54062621316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A tenor of a metaphor is —

Options :

1. ¥ The subject of the metaphor

2. # The degree of comparison

3. # A word used for comparison. For example — like, as etc.

4. ® The metaphorical term itself

Question Number : 173 Question Id : 54062621317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is the author of “Animal Farm™?
Options :

1. # H.G. Wells

2. # Ray Bradbury

3. ¥ George Orwell

4. % Margaret Atwood



Question Number : 173 Question Id
Orientation : Vertical

: 54062621317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

Who is the author of “Animal Farm”?
Options :

1. % H.G. Wells

2. # Ray Bradbury

3. % George Orwell

4. ¥ Margaret Atwood

Question Number : 174 Question Id
Orientation : Vertical

: 54062621318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
What is the name of the protagonist of Franz Katka’s novel “The Trial”?

Options :

1. # Raskalnikov
2. % Ke

3. # Gregor Samsa
4. ¥ Joseph K.

Question Number : 174 Question Id
Orientation : Vertical

: 54062621318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
What is the name of the protagonist of Franz Kafka’s novel “The Trial”?

Options :

1. % Raskalnikov
2. % Ke

3. % Gregor Samsa
4. ¥ Joseph K.

Question Number : 175 Question Id

: 54062621319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is NOT a literary genre?
Options :

1. # Magical Realism

2. % Science Fiction

3. ¥ Restoration Period

4. % Detective Fiction

Question Number : 175 Question Id : 54062621319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is NOT a literary genre?
Options :

1. # Magical Realism

2. # Science Fiction

3. % Restoration Period

4. % Detective Fiction

Question Number : 176 Question Id : 54062621320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the given lines and identify the correct author.

Regarded as a pioneer of Modernist literature, this author was born in Ireland. He is most famous for his novel which shares name with the Greek
hero Odysseus.

Options :

1. #* Virginia Woolf

2. ¥ James Joyce

3. % Fyodor Dostoevsky
4. % Khaled Hosseini



Question Number : 176 Question Id : 54062621320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Read the given lines and identify the correct author.
Regarded as a pioneer of Modernist literature, this author was born in Ireland. He is most famous for his novel which shares name with the Greek
hero Odysseus.

Options :

1. # Virginia Woolf

2. ¥ James Joyce

3. # Fyodor Dostoevsky
4. # Khaled Hosseini

Question Number : 177 Question Id : 54062621321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Edmund Spenser’s work “Amoretti” is a collection of
Options :

1. ¥ sonnets

2. % short stories

3. ® essays

4. % letters

Question Number : 177 Question Id : 54062621321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Edmund Spenser’s work “Amoretti” is a collection of
Options :

1. ¥ sonnets

2. # short stories

3. % essays

4, % letters



Question Number : 178 Question Id : 54062621322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is NOT related to Victorian Era Literature?
Options :

1. # Utilitarianism

2. # Industrial Revolution

3. # Bildungsroman

4. % Stream of consciousness

Question Number : 178 Question Id : 54062621322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is NOT related to Victorian Era Literature?
Options :

1. % Utilitarianism

2. % Industrial Revolution

3. % Bildungsroman

4. % Stream of consciousness

Question Number : 179 Question Id : 54062621323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which narrative technique is used by Salman Rushdie in “Midnight’s Children?
Options :

1. % Stream of Consciousness

2. ¥ Magical Realism

3. % Story within a story

4. # Pathetic Fallacy

Question Number : 179 Question Id : 54062621323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which narrative technique is used by Salman Rushdie in “Midnight’s Children™?
Options :

1. # Stream of Consciousness

2. ¥ Magical Realism

3. # Story within a story

4. % Pathetic Fallacy

Question Number : 180 Question Id : 54062621324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which meter is used in a Blank verse?
Options :

1. # Iambic Hexameter

2. # Trochaic Hexameter

3. % Trochaic Pentameter

4. ¥ Jambic Pentameter

Question Number : 180 Question Id : 54062621324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which meter is used in a Blank verse?
Options :

1. # Jambic Hexameter

2. # Trochaic Hexameter

3. % Trochaic Pentameter

4. ¥ Jambic Pentameter
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Question Id : 54062621325 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (181 to 185)
Read the following information carefully and answer the given questions.

Offshore wind energy refers to the deployment of wind farms inside the water bodies. They utilise the sea winds to generate electricity. These
wind farms either use fixed-foundation turbines or floating wind turbines. A fixed-foundation turbine is built in shallow water, whereas a floating
wind turbine is built in deeper waters where its foundation is anchored in the seabed. Floating wind farms are still in their infancy. Offshore wind
farms must be at least 200 nautical miles from the shore and 50 feet deep in the ocean. Offshore wind turbines produce electricity which is
returned to shore through cables buried in the ocean floor. The coastal load centres distribute this electricity based on priority. In India, where
land is limited and the population is increasing, large wind farms positioned over water bodies will be vital. The benefits of offshore wind parks
are numerous. It is proven that offshore wind turbines are more efficient compared to onshore ones. Wind speed over water bodies is high and is



consistent in direction. As a result, offshore wind farms generate more electricity per installed capacity. Also, fewer offshore turbines are required
to produce the same capacity of energy as compared to onshore ones. As the offshore wind is stronger during the daytime, it ensures a more
consistent and efficient electricity generation when consumer demand is at its highest. In contrast, wind power on land performs better at night
when power consumption is lower.

Sub questions

Question Number : 181 Question Id : 54062621326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given passage mainly talks about the:
Options :

1. # Challenges faced by offshore wind energy.
2. ¥ Benefits of offshore wind energy.

3. ¥ Emergence of wind energy in India.

4. % Factors responsible for producing wind energy.

Question Number : 182 Question Id : 54062621327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why offshore wind turbines are more efficient compared to onshore ones?
Options :

1. * The onshore wind turbine is consistent in direction.

2. % The size of the generator is big.

3. ¥ The speed of wind over water bodies is high.

4. % The turbine's swept area is favourable.

Question Number : 183 Question Id : 54062621328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The author is suggesting to position large wind farms over water bodies in India because.

I. Land area is limited
II. The population is increasing

Options :



1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 184 Question Id : 54062621329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that is opposite in meaning to the word ‘numerous’ as used in the passage.
Options :

1. # Myriad

2. ¥ Finite

3. % Extensive

4. % Putrid

Question Number : 185 Question Id : 54062621330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is correct according to the given passage?
Options :

1. ¥ Offshore wind energy utilises the sea winds to generate electricity.

2. # The offshore wind is stronger during the night time.

3. % The coastal load centres distribute the produced electricity unbiasedly.

4. * Onshore wind farms must be at least 200 nautical miles from the shore.

Question Id : 54062621325 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (181 to 185)
Read the following information carefully and answer the given questions.

Offshore wind energy refers to the deployment of wind farms inside the water bodies. They utilise the sea winds to generate electricity. These
wind farms either use fixed-foundation turbines or floating wind turbines. A fixed-foundation turbine is built in shallow water, whereas a floating
wind turbine is built in deeper waters where its foundation is anchored in the seabed. Floating wind farms are still in their infancy. Offshore wind



farms must be at least 200 nautical miles from the shore and 50 feet deep in the ocean. Offshore wind turbines produce electricity which is
returned to shore through cables buried in the ocean floor. The coastal load centres distribute this electricity based on priority. In India, where
land is limited and the population is increasing, large wind farms positioned over water bodies will be vital. The benefits of offshore wind parks
are numerous. It is proven that offshore wind turbines are more efficient compared to onshore ones. Wind speed over water bodies is high and is
consistent in direction. As a result, offshore wind farms generate more electricity per installed capacity. Also, fewer offshore turbines are required
to produce the same capacity of energy as compared to onshore ones. As the offshore wind is stronger during the daytime, it ensures a more
consistent and efficient electricity generation when consumer demand is at its highest. In contrast, wind power on land performs better at night
when power consumption is lower.

Sub questions

Question Number : 181 Question Id : 54062621326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given passage mainly talks about the:
Options :

1. # Challenges faced by offshore wind energy.
2. ¥ Benefits of offshore wind energy.

3. ¥ Emergence of wind energy in India.

4. % Factors responsible for producing wind energy.

Question Number : 182 Question Id : 54062621327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why offshore wind turbines are more efficient compared to onshore ones?
Options :

1. * The onshore wind turbine is consistent in direction.

2. % The size of the generator is big.

3. ¥ The speed of wind over water bodies is high.

4. % The turbine's swept area is favourable.

Question Number : 183 Question Id : 54062621328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The author is suggesting to position large wind farms over water bodies in India because.



I. Land area is limited
II. The population is increasing

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ® Neither I nor II

Question Number : 184 Question Id : 54062621329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that is opposite in meaning to the word ‘numerous’ as used in the passage.
Options :

1. % Myriad

2. ¥ Finite

3. # Extensive

4. % Putrid

Question Number : 185 Question Id : 54062621330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is correct according to the given passage?
Options :

1. ¥ Offshore wind energy utilises the sea winds to generate electricity.

2. # The offshore wind is stronger during the night time.

3. # The coastal load centres distribute the produced electricity unbiasedly.

4. ¥ Onshore wind farms must be at least 200 nautical miles from the shore.

Sub-Section Number : 2
Sub-Section Id : 5406261277
Question Shuffling Allowed : Yes

Question Id : 54062621331 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No



Question Numbers : (186 to 190)
Read the following information carefully and answer the given questions.

On the surface, healthy eating seems like an easy enough task. After all, the most nutritious foods come straight from the earth; pure and
unprocessed. But fresh whole foods are not always accessible to everyone. With obstacles like food deserts, expensive organics, and high-priced
meats, eating healthy on a budget seems nearly impossible.

When trying to save on your grocery bill, start by filling your pantry with shelf-stable items like beans, rice, and lentils. Dried foods, devoid of
water, cost less because they are cheaper for manufacturers to store and ship. Packed with essential vitamins and minerals, these kitchen staples
last months in your cupboard and yield substantial portions.

Shopping for nutritious food on limited funds requires a bit of strategy. Pay close attention to grocery store sales so you can stock up on
discounted staples. Big box stores like Target and Costco offer easy-to-use digital coupons for their growing stock of organic and health food
products. These large retailers usually provide private label options that eliminate marketing costs associated with household name brands. For
the same reason, buying in bulk saves money—and without packaging costs, bulk foods are discounted even further.

Weekly meal planning is another cost-saving measure that will pay off in spades. Spending just 30 minutes preparing for the week ahead helps
you spend less money and waste less food. Instead of throwing away leftover sauteed veggies, add them to your eggs the following morning.
And, consider which fruits and vegetables are in season.

Sub questions

Question Number : 186 Question Id : 54062621332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What can be the suitable tagline for the given passage?
Options :

1. % A fight between what to eat and what to skip

2. ¥ Budget friendly ways to eat healthy food

3. # Is healthy food affordable?

4. # Benefits of eating nutritious food

Question Number : 187 Question Id : 54062621333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why dried foods cost less?

Options :

1. # They are not nutritious and healthy like milk products.
2. % They can be stored and shipped in a cost effective way.

3. #® No skill is required in their production.



4. % Their demand in the market is lower than other products.

Question Number : 188 Question Id : 54062621334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The author has NOT mentioned which of the following strategies to shop nutritious food on limited funds?
Options :

1. # Checking store sales

2. % Buying in bulk

3. % Weakly meal planning

4. ¥ Change in lifestyle

Question Number : 189 Question Id : 54062621335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means the same as the word ‘unprocessed’ as used in the passage.
Options :

1. ¥ Crude

2. # Refined

3. % Decorated

4. % Brittle

Question Number : 190 Question Id : 54062621336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The idiom ‘pay off in spades’ used in the passage means
Options :

1. ¥ A high return on investment

2. # To have no real value

3. * Futile efforts

4. % To pay in installments



Question Id : 54062621331 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (186 to 190)
Read the following information carefully and answer the given questions.

On the surface, healthy eating seems like an easy enough task. After all, the most nutritious foods come straight from the earth; pure and
unprocessed. But fresh whole foods are not always accessible to everyone. With obstacles like food deserts, expensive organics, and high-priced
meats, eating healthy on a budget seems nearly impossible.

When trying to save on your grocery bill, start by filling your pantry with shelf-stable items like beans, rice, and lentils. Dried foods, devoid of
water, cost less because they are cheaper for manufacturers to store and ship. Packed with essential vitamins and minerals, these kitchen staples
last months in your cupboard and yield substantial portions.

Shopping for nutritious food on limited funds requires a bit of strategy. Pay close attention to grocery store sales so you can stock up on
discounted staples. Big box stores like Target and Costco offer easy-to-use digital coupons for their growing stock of organic and health food
products. These large retailers usually provide private label options that eliminate marketing costs associated with household name brands. For
the same reason, buying in bulk saves money—and without packaging costs, bulk foods are discounted even further.

Weekly meal planning is another cost-saving measure that will pay off in spades. Spending just 30 minutes preparing for the week ahead helps
you spend less money and waste less food. Instead of throwing away leftover sauteed veggies, add them to your eggs the following morning.
And, consider which fruits and vegetables are in season.

Sub questions

Question Number : 186 Question Id : 54062621332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What can be the suitable tagline for the given passage?
Options :

1. % A fight between what to eat and what to skip

2. ¥ Budget friendly ways to eat healthy food

3. # Is healthy food affordable?

4. # Benefits of eating nutritious food

Question Number : 187 Question Id : 54062621333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why dried foods cost less?

Options :

1. # They are not nutritious and healthy like milk products.



2. % They can be stored and shipped in a cost effective way.
3. # No skill is required in their production.

4. ® Their demand in the market is lower than other products.

Question Number : 188 Question Id : 54062621334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The author has NOT mentioned which of the following strategies to shop nutritious food on limited funds?
Options :

1. # Checking store sales

2. % Buying in bulk

3. # Weakly meal planning

4. ¥ Change in lifestyle

Question Number : 189 Question Id : 54062621335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means the same as the word ‘unprocessed’ as used in the passage.
Options :

1. ¥ Crude

2. % Refined

3. # Decorated

4. ¥ Brittle

Question Number : 190 Question Id : 54062621336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The idiom ‘pay off in spades’ used in the passage means
Options :

1. ¥ A high return on investment

2. ® To have no real value

3. # Futile efforts

4. # To pay in installments
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Question Number : 191 Question Id : 54062621337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a characteristic of a Good Teaching Learning Material?



I. Material of multiple utility
II. Material should have utilitarian value

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 191 Question Id : 54062621337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1

2. % HAd Il

3. [ QYT ISl

4. % qEIIATE I

Question Number : 192 Question Id : 54062621338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a broad way, motor skills are classified into locomotor and manipulatory skills. Which of the following activities are involved in locomotor
skills?

I. Climbing
II. Running
1. Walking

Options :
1. # Il and III
2. % Tand II



3. % Only III
4.+ 1,11 and TIT

Question Number : 192 Question Id : 54062621338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % [IdUTIII
2. % AU
3. % ohad I

4. 1 11 dYT 1T

Question Number : 193 Question Id : 54062621339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“Internal organs, three dimensional geometric figures are best understood with models”. A teacher uses various learning materials to create an
inclusive classroom. The given statement represents which of the following learning material?

Options :

1. % Our surrounding environment

2. ¥ Tactual materials in the form of real objects

3. ® Visual materials in the form of pictures or photographs

4. % Information and communication technology

Question Number : 193 Question Id : 54062621339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 194 Question Id : 54062621340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is NOT correct?

I. Gender discrimination can be direct and indirect.
II. Gender discrimination can be blatant or subtle.

Options :

1. % Only I

2. % Only II

3. % Both Iand Il
4. ¢ Neither I nor 11

Question Number : 194 Question Id : 54062621340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 195 Question Id : 54062621341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘Listen and draw’ is a listening activity. This activity is particularly useful for checking

I. object vocabulary
II. prepositions
1. Colours and numbers

Options :

1. * Il and III
2.9 1, Il and I1I
3. % Only I
4. % JTand II

Question Number : 195 Question Id : 54062621341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % [1dYT I
2. ¥ 1, 1Y
3. % had Il

4, % 1dYUTII

Question Number : 196 Question Id : 54062621342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following are those common tools that can be used for Drawing?

I. Chalk

II. Charcoal
III. Crayon
IV. Graphite

Options :

1. # II, Il and IV
2. % Jand IV

3.9 111, IIl and IV
4. #* Iland IV

Question Number : 196 Question Id : 54062621342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # I I ddT IV
2. % 1dUTIV

3. LILINTUTIV
4, % [IdUTIV

Question Number : 197 Question Id : 54062621343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A standard language becomes the language of

I. media



II. administration
II1. judiciary
Options :

1. % Il and 111

2. % Tand III

3. % Only II

4. 1,11 and I1I

Question Number : 197 Question Id : 54062621343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 11 dYT I
2. % 1dYUTIIT
3. % had Il

4. 1, 11 dYUTIII

Question Number : 198 Question Id : 54062621344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is NOT correct about Teacher — Centered Approach to Learning and Teaching?
Options :

1. # One — Way transmission is done; students passively sit and listen to the teacher.

2. ¥ Student are acquainted with project work.

3. # The textual questions are answered and learnt by rote.

4. % The teacher’s approach is to complete the course in time.



Question Number : 198 Question Id : 54062621344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 199 Question Id : 54062621345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is NOT correct about Formative Assessment?
Options :

1. #® Grades do not carry much weight

2. ® Tt can be flexible as per the needs of the students

3. ¥ It is outcome oriented

4. ® Tt is frequently administered during the teaching — learning process

Question Number : 199 Question Id : 54062621345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 200 Question Id : 54062621346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is NOT correct?

I. Summative Assessment supplements Formative Assessment.
II. Summative Assessment is used to determine a student’s overall performance in a certain prescribed course.

Options :

1. ¥ Only I

2. % Only II

3. % Both Iand Il
4. ® Neither I nor II

Question Number : 200 Question Id : 54062621346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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